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itimiE 100.0 57.0 1.0 50 34.0 50 - 20 - 1.0 - 10.0 - - - - 19.0
=X 100 55 - 1 21 7 - - - - 2 1 - - - 2 24
100.0 55.0 - 1.0 21.0 7.0 - - - - 2.0 1.0 - - - 2.0 24.0
PO g 100 59 4 6 19 6 1 2 1 2 4 6 - - 1 3 20
- 100.0 59.0 4.0 6.0 19.0 6.0 1.0 2.0 1.0 20 4.0 6.0 - - 1.0 3.0 20.0
i 100 56 1 7 22 2 - - 1 - 3 5 - - 2 1 23
™ 100.0 56.0 1.0 7.0 22.0 2.0 - - 1.0 - 3.0 5.0 - - 2.0 1.0 23.0
FNEE 100 59 1 7 26 5 - 2 - - 2 11 - - - 2 14
™ 100.0 59.0 1.0 7.0 26.0 5.0 - 2.0 - - 20 11.0 - - - 20 14.0
L8 100 66 - 5 17 2 - 1 - 2 3 11 1 - 1 1 14
- 100.0 66.0 - 50 17.0 20 - 1.0 - 2.0 3.0 11.0 1.0 - 1.0 1.0 14.0
e 100 56 1 3 22 5 1 2 1 2 3 8 1 1 1 2 18
™ 100.0 56.0 1.0 3.0 22.0 50 1.0 2.0 1.0 2.0 3.0 8.0 1.0 1.0 1.0 2.0 18.0
i 18 100 48 - 10 21 1 1 - - 2 2 7 - - - 2 25
- 100.0 48.0 - 10.0 21.0 1.0 1.0 - - 20 20 7.0 - - - 20 25.0
. 100 54 - 5 26 1 1 - - 1 2 8 1 - 1 2 15
- 100.0 54.0 - 50 26.0 1.0 1.0 - - 1.0 20 8.0 1.0 - 1.0 20 15.0
BEE 100 61 3 2 18 2 1 1 1 2 2 8 - - - 1 19
e 100.0 61.0 3.0 2.0 18.0 2.0 1.0 1.0 1.0 2.0 2.0 8.0 - - - 1.0 19.0
E 100 49 - 5 19 1 - 1 - 2 1 5 - - 1 1 28
HER 100.0 49.0 - 5.0 19.0 1.0 - 1.0 - 20 1.0 50 - - 1.0 1.0 28.0
FiEE 100 48 2 8 25 2 1 1 1 1 3 7 1 1 1 - 27
™ 100.0 48.0 2.0 8.0 25.0 2.0 1.0 1.0 1.0 1.0 3.0 7.0 1.0 1.0 1.0 - 27.0
HEH 100 46 1 13 32 5 2 2 3 2 3 10 2 2 1 2 21
- 100.0 46.0 1.0 13.0 32.0 50 20 20 3.0 2.0 3.0 10.0 20 20 1.0 20 21.0
s )18 100 55 3 6 23 5 1 2 2 2 - 9 - 1 1 3 18
R 100.0 55.0 3.0 6.0 23.0 50 1.0 20 20 20 - 9.0 - 1.0 1.0 3.0 18.0
%818 100 52 1 6 24 3 2 1 1 1 1 5 - 1 - 4 21
™ 100.0 52.0 1.0 6.0 240 3.0 2.0 1.0 1.0 1.0 1.0 5.0 - 1.0 - 40 21.0
=118 100 62 1 8 25 4 2 1 2 3 2 4 - 1 - - 20
B 100.0 62.0 1.0 8.0 25.0 4.0 20 1.0 2.0 3.0 2.0 4.0 - 1.0 - - 20.0
5IE 100 61 1 10 24 4 1 2 1 5 2 8 1 1 1 1 15
™ 100.0 61.0 1.0 10.0 24.0 40 1.0 2.0 1.0 5.0 2.0 8.0 1.0 1.0 1.0 1.0 15.0
PRl 100 59 2 5 27 4 1 2 1 2 3 6 1 1 1 - 18
- 100.0 59.0 20 50 27.0 4.0 1.0 20 1.0 20 3.0 6.0 1.0 1.0 1.0 - 18.0
L5 100 60 - 5 19 2 3 2 1 3 1 5 - - - - 18
- 100.0 60.0 - 5.0 19.0 20 3.0 20 1.0 3.0 1.0 50 - - - - 18.0
EFRE 100 59 2 3 15 3 1 2 3 2 1 11 - - - 5 21
™ 100.0 59.0 2.0 3.0 15.0 3.0 1.0 2.0 3.0 2.0 1.0 11.0 - - - 50 21.0
I B 158 100 50 1 7 20 4 2 2 - - - 9 - - 1 2 26
- 100.0 50.0 1.0 7.0 20.0 4.0 20 20 - - - 9.0 - - 1.0 20 26.0
#4018 100 55 1 5 17 3 - - - 3 1 10 - - - 4 20
100.0 55.0 1.0 50 17.0 3.0 - - - 3.0 1.0 10.0 - - - 40 20.0
B5 8 100 48 1 10 28 4 - 1 1 1 2 9 1 1 - 5 20
= - 100.0 48.0 1.0 10.0 28.0 4.0 - 1.0 1.0 1.0 2.0 9.0 1.0 1.0 - 5.0 20.0
* =58 100 52 1 5 22 4 1 1 2 2 2 7 - - - 3 25
#ho|T=T 100.0 52.0 1.0 5.0 22.0 4.0 1.0 1.0 20 20 20 7.0 - - - 3.0 25.0
Al 77518 100 56 2 9 21 2 1 3 - 2 - 12 - 3 3 1 25
2o 100.0 56.0 2.0 9.0 21.0 2.0 1.0 3.0 - 2.0 - 12.0 - 3.0 3.0 1.0 25.0
o 100 62 - 5 25 5 2 - - 1 1 9 - 1 2 1 16
AR 100.0 62.0 - 50 25.0 5.0 20 - - 1.0 1.0 9.0 - 1.0 20 1.0 16.0
100 58 - 4 25 3 - 1 - 1 2 7 - - - - 18
ABRA 100.0 58.0 - 4.0 25.0 3.0 - 1.0 - 1.0 2.0 7.0 - - - - 18.0
EE 100 56 2 7 20 3 1 2 1 2 1 10 1 1 1 - 22
SR 100.0 56.0 2.0 7.0 20.0 3.0 1.0 2.0 1.0 2.0 1.0 10.0 1.0 1.0 1.0 - 220
Z@E 100 45 2 4 26 8 1 - 3 3 2 9 1 - 1 4 18
AR 100.0 45.0 20 4.0 26.0 8.0 1.0 - 3.0 3.0 20 9.0 1.0 - 1.0 4.0 18.0
I 100 60 1 4 24 4 - - 1 - 2 13 1 - 1 2 14
0 100.0 60.0 1.0 40 24.0 40 - - 1.0 - 2.0 13.0 1.0 - 1.0 2.0 14.0
£ fy 18 100 65 1 3 24 5 - 2 - 2 2 3 - 1 - 1 16
mEar 100.0 65.0 1.0 3.0 24.0 5.0 - 20 - 20 2.0 3.0 - 1.0 - 1.0 16.0
EipiE 100 68 - 4 20 4 3 1 - 2 1 7 - 1 - - 14
- 100.0 68.0 - 4.0 20.0 4.0 3.0 1.0 - 20 1.0 7.0 - 1.0 - - 14.0
L 100 51 - 5 22 3 1 3 - 3 2 9 1 - - - 25
™ 100.0 51.0 - 5.0 22.0 3.0 1.0 3.0 - 3.0 2.0 9.0 1.0 - - - 25.0
=T 100 59 1 3 17 3 - - 2 2 4 7 - - 1 1 21
- 100.0 59.0 1.0 3.0 17.0 3.0 - - 20 20 4.0 1.0 - - 1.0 1.0 21.0
sl 100 64 - 6 29 4 - - - 1 - 7 - - - 1 18
™ 100.0 64.0 - 6.0 29.0 40 - - - 1.0 - 7.0 - - - 1.0 18.0
e 100 54 - 9 23 7 1 - - 1 3 9 - 1 - 3 18
e 100.0 54.0 - 9.0 23.0 7.0 1.0 - - 1.0 3.0 9.0 - 1.0 - 3.0 18.0
=118 100 56 - 5 26 5 - 1 - 2 - 5 1 - - 4 19
- 100.0 56.0 - 5.0 26.0 50 - 1.0 - 20 - 5.0 1.0 - - 4.0 19.0
BE R 100 51 - 5 28 2 1 1 2 - 1 11 - 1 - 3 22
™ 100.0 51.0 - 50 28.0 2.0 1.0 1.0 2.0 - 1.0 11.0 - 1.0 - 3.0 22.0
=418 100 59 2 7 22 5 1 1 1 1 3 5 1 1 1 - 21
AR 100.0 59.0 20 7.0 22.0 5.0 1.0 1.0 1.0 1.0 3.0 50 1.0 1.0 1.0 - 21.0
2 100 60 - 3 19 2 - - - 2 1 10 - - 1 2 20
™ 100.0 60.0 - 3.0 19.0 2.0 - - - 2.0 1.0 10.0 - - 1.0 2.0 20.0
e 100 52 3 6 25 8 1 1 - 2 4 5 - - - 2 22
- 100.0 52.0 3.0 6.0 250 8.0 1.0 1.0 - 20 4.0 50 - - - 20 220
58 100 58 - 3 21 2 - 1 - 2 - 7 - 1 - 3 20
- 100.0 58.0 - 3.0 21.0 2.0 - 1.0 - 20 - 7.0 - 1.0 - 3.0 20.0
B AR 100 51 - 5 27 5 - 1 - 1 3 7 - - - 1 23
™ 100.0 51.0 - 5.0 27.0 50 - 1.0 - 1.0 3.0 7.0 - - - 1.0 23.0
K418 100 55 1 4 22 4 2 2 2 1 1 13 - 1 - - 26
- 100.0 55.0 1.0 40 22.0 4.0 2.0 20 20 1.0 1.0 13.0 - 1.0 - - 26.0
i 8 100 51 - 7 26 2 - 1 2 1 4 5 2 - 1 3 23
™ 100.0 51.0 - 7.0 26.0 2.0 - 1.0 2.0 1.0 40 5.0 2.0 - 1.0 3.0 23.0
RS 100 51 3 4 34 3 1 2 1 2 2 9 - - 2 3 16
™ 100.0 51.0 3.0 40 34.0 3.0 1.0 2.0 1.0 2.0 2.0 9.0 - 2.0 3.0 16.0
g e 100 53 - 11 27 6 - 4 - 2 4 3 - - - 1 20
100.0 53.0 - 11.0 27.0 6.0 - 4.0 - 2.0 4.0 3.0 - - - 1.0 20.0
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2 % 4700 963 48 402 1569 332 52 82 42 98 138 626 26 18 55 90 1541
100.0 205 1.0 8.5 334 7.1 1.1 18 0.9 2.1 2.9 13.3 0.6 0.4 1.2 1.9 328
tm 100 26 2 8 43 7 - 1 - 1 - 10 1 - - - 31
100.0 26.0 2.0 8.0 43.0 7.0 - 1.0 - 1.0 - 10.0 1.0 - - - 31.0
= 100 25 1 7 30 3 1 5 1 3 2 3 - - 1 1 39
R AR 100.0 25.0 1.0 7.0 30.0 3.0 1.0 5.0 1.0 3.0 2.0 3.0 - - 1.0 1.0 39.0
wxE 100 30 2 12 32 8 - 1 2 - 4 6 - - 2 4 28
B 100.0 30.0 2.0 12.0 320 8.0 - 1.0 2.0 - 4.0 6.0 - - 2.0 4.0 28.0
=i 100 27 - 11 34 6 - 2 1 2 1 8 1 - 1 2 32
B 100.0 27.0 - 11.0 34.0 6.0 - 2.0 1.0 2.0 1.0 8.0 1.0 - 1.0 2.0 320
1 100 32 3 12 36 10 1 3 3 3 4 11 1 1 2 2 23
B 100.0 32.0 3.0 12.0 36.0 10.0 1.0 3.0 3.0 3.0 4.0 11.0 1.0 1.0 2.0 2.0 23.0
L8 100 31 - 9 28 3 - 1 1 - 3 12 - - - 2 32
B 100.0 31.0 - 9.0 28.0 3.0 - 1.0 1.0 - 3.0 12.0 - - - 2.0 320
e e 100 22 1 14 36 9 1 5 - 1 1 11 - - - 2 30
" 100.0 22.0 1.0 14.0 36.0 9.0 1.0 5.0 - 1.0 1.0 11.0 - - - 2.0 30.0
452 100 20 1 7 29 2 1 - - 2 4 14 - - 1 2 38
B 100.0 20.0 1.0 7.0 29.0 2.0 1.0 - - 2.0 4.0 14.0 - - 1.0 2.0 38.0
A 100 22 - 7 38 4 - 1 1 1 3 6 - - - 6 25
B 100.0 220 - 7.0 38.0 4.0 - 1.0 1.0 1.0 3.0 6.0 - - - 6.0 25.0
BER 100 20 1 9 34 6 1 - - - 2 10 - - 1 1 36
o 100.0 20.0 1.0 9.0 34.0 6.0 1.0 - - - 2.0 10.0 - - 1.0 1.0 36.0
= 100 22 - 7 33 4 1 - - 1 2 11 - - - - 35
HER 100.0 220 - 7.0 33.0 4.0 1.0 - - 1.0 2.0 11.0 - - - - 35.0
TR 100 19 2 6 41 3 - 1 - 1 2 9 - 1 1 - 34
a 100.0 19.0 2.0 6.0 41.0 3.0 - 1.0 - 1.0 2.0 9.0 - 1.0 1.0 - 34.0
o 100 12 3 12 33 11 5 5 5 5 5 17 3 4 5 2 37
- 100.0 12.0 3.0 12.0 33.0 11.0 5.0 5.0 5.0 5.0 5.0 17.0 3.0 4.0 5.0 2.0 37.0
2| 100 20 4 7 34 7 4 3 - 2 5 19 1 - 1 1 26
U 100.0 20.0 4.0 7.0 34.0 7.0 4.0 3.0 - 2.0 5.0 19.0 1.0 - 1.0 1.0 26.0
g5 m 100 25 1 9 33 8 - - - 1 3 9 - - - 2 34
B 100.0 25.0 1.0 9.0 33.0 8.0 - - - 1.0 3.0 9.0 - - - 2.0 34.0
=18 100 16 1 9 44 11 - 1 - 1 6 8 2 2 4 3 27
= 100.0 16.0 1.0 9.0 440 11.0 - 1.0 - 1.0 6.0 8.0 2.0 2.0 4.0 3.0 27.0
1|8 100 30 - 13 39 10 1 2 1 5 2 10 1 - 1 1 19
a 100.0 30.0 - 13.0 39.0 10.0 1.0 2.0 1.0 5.0 2.0 10.0 1.0 - 1.0 1.0 19.0
538 100 30 2 8 28 5 1 3 1 1 3 7 - 1 1 1 33
B 100.0 30.0 2.0 8.0 28.0 5.0 1.0 3.0 1.0 1.0 3.0 7.0 - 1.0 1.0 1.0 33.0
L 100 21 - 9 30 9 1 1 - 1 2 10 - - 1 2 35
B 100.0 21.0 - 9.0 30.0 9.0 1.0 1.0 - 1.0 2.0 10.0 - - 1.0 2.0 35.0
EmE 100 23 2 8 24 8 1 2 4 3 3 12 - 1 - 4 32
a 100.0 23.0 2.0 8.0 24.0 8.0 1.0 2.0 4.0 3.0 3.0 12.0 - 1.0 - 4.0 32.0
%8 100 20 1 9 38 8 1 3 - 1 1 9 - - - 2 33
B 100.0 20.0 1.0 9.0 38.0 8.0 1.0 3.0 - 1.0 1.0 9.0 - - - 2.0 33.0
samE 100 28 - 14 34 9 - 4 - 2 3 10 - - 1 3 26
100.0 28.0 - 14.0 34.0 9.0 - 4.0 - 2.0 3.0 10.0 - - 1.0 3.0 26.0
BaE 100 16 1 11 40 8 1 3 1 2 5 13 - - - 4 29
= T 100.0 16.0 1.0 11.0 40.0 8.0 1.0 3.0 1.0 2.0 5.0 13.0 - - - 4.0 29.0
(£ —z8 100 23 - 12 22 5 - 2 - 3 4 10 1 - 1 3 38
=" 100.0 23.0 - 12.0 22.0 5.0 - 2.0 - 3.0 4.0 10.0 1.0 - 1.0 3.0 38.0
il _ 100 21 2 9 30 10 3 2 2 4 3 17 3 - 3 1 36
MR 100.0 21.0 2.0 9.0 30.0 10.0 3.0 2.0 2.0 4.0 3.0 17.0 3.0 - 3.0 1.0 36.0
e 100 27 1 9 37 9 1 3 2 1 2 11 1 1 2 2 33
100.0 27.0 1.0 9.0 37.0 9.0 1.0 3.0 2.0 1.0 2.0 11.0 1.0 1.0 2.0 2.0 33.0
100 26 1 6 33 5 - 1 1 2 1 11 1 - - 1 35
RIRAE 100.0 26.0 1.0 6.0 33.0 5.0 - 1.0 1.0 2.0 1.0 11.0 1.0 - - 1.0 35.0
s 100 27 - 8 22 6 - 2 1 3 3 11 1 - 1 1 34
at 100.0 27.0 - 8.0 220 6.0 - 2.0 1.0 3.0 3.0 11.0 1.0 - 1.0 1.0 34.0
=pE 100 22 1 3 31 4 1 2 1 3 4 12 - - 2 1 29
e 100.0 220 1.0 3.0 31.0 4.0 1.0 2.0 1.0 3.0 4.0 12.0 - - 2.0 1.0 29.0
LS 100 29 2 13 43 7 3 2 1 2 3 13 - 1 2 3 24
- 100.0 29.0 2.0 13.0 43.0 7.0 3.0 2.0 1.0 2.0 3.0 13.0 - 1.0 2.0 3.0 240
& g 1 100 30 - 8 37 11 1 2 2 - 1 7 1 - 3 1 26
IR 100.0 30.0 - 8.0 37.0 11.0 1.0 2.0 2.0 - 1.0 7.0 1.0 - 3.0 1.0 26.0
EinE 100 35 1 10 35 12 4 5 3 1 2 8 1 1 2 1 25
B 100.0 35.0 1.0 10.0 35.0 12.0 4.0 5.0 3.0 1.0 2.0 8.0 1.0 1.0 2.0 1.0 25.0
&L 18 100 26 - 8 32 5 - 2 2 1 3 8 - 1 4 - 32
B 100.0 26.0 - 8.0 32.0 5.0 - 2.0 2.0 1.0 3.0 8.0 - 1.0 4.0 - 320
LEE 100 25 - 11 29 5 - 1 2 1 6 10 - - - 3 27
B 100.0 25.0 - 11.0 29.0 5.0 - 1.0 2.0 1.0 6.0 10.0 - - - 3.0 27.0
e 100 28 1 7 30 7 - - 1 4 3 11 - - - 3 34
B 100.0 28.0 1.0 7.0 30.0 7.0 - - 1.0 4.0 3.0 11.0 - - - 3.0 34.0
e 100 29 1 13 29 11 2 5 1 2 2 9 - - 1 1 26
e 100.0 29.0 1.0 13.0 29.0 11.0 2.0 5.0 1.0 2.0 2.0 9.0 - - 1.0 1.0 26.0
)8 100 29 1 14 36 14 3 - 1 1 3 8 - - - 5 21
B 100.0 29.0 1.0 14.0 36.0 14.0 3.0 - 1.0 1.0 3.0 8.0 - - - 5.0 21.0
BiEE 100 33 - 12 42 9 1 1 - - 5 14 - - 1 4 17
- 100.0 33.0 - 12.0 42.0 9.0 1.0 1.0 - - 5.0 14.0 - - 1.0 4.0 17.0
=48 100 32 1 9 31 10 - - - 1 2 8 - - 1 - 28
S 100.0 320 1.0 9.0 31.0 10.0 - - - 1.0 2.0 8.0 - - 1.0 - 28.0
= e 100 27 - 6 23 6 - 3 2 2 4 13 - - 2 2 31
B 100.0 27.0 - 6.0 23.0 6.0 - 3.0 2.0 2.0 4.0 13.0 - - 2.0 2.0 31.0
B e 100 18 - 5 31 8 1 1 - 2 6 10 - - - 3 32
B 100.0 18.0 - 5.0 31.0 8.0 1.0 1.0 - 2.0 6.0 10.0 - - - 3.0 320
. 100 35 1 5 31 9 - 1 1 - 1 12 - - 3 2 26
B 100.0 35.0 1.0 5.0 31.0 9.0 - 1.0 1.0 - 1.0 12.0 - - 3.0 2.0 26.0
AR 100 25 1 11 33 4 2 3 - 2 4 11 - - - 2 29
" 100.0 25.0 1.0 11.0 33.0 4.0 2.0 3.0 - 2.0 4.0 11.0 - - - 2.0 29.0
SN 100 16 - 11 41 9 1 2 3 3 1 12 1 - - 1 37
B 100.0 16.0 - 11.0 410 9.0 1.0 2.0 3.0 3.0 1.0 12.0 1.0 - - 1.0 370
=1 100 24 3 10 35 5 1 - - 2 5 10 1 1 3 2 33
B 100.0 240 3.0 10.0 35.0 5.0 1.0 - - 2.0 5.0 10.0 1.0 1.0 3.0 2.0 33.0
EREE 100 30 3 9 23 9 1 3 - 3 5 7 1 1 - 3 28
- 100.0 30.0 3.0 9.0 23.0 9.0 1.0 3.0 - 3.0 5.0 7.0 1.0 1.0 - 3.0 28.0
hig e 100 28 1 6 32 9 - 1 1 3 3 4 - - 1 3 32
100.0 28.0 1.0 6.0 320 9.0 - 1.0 1.0 3.0 3.0 4.0 - - 1.0 3.0 320
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2 % 4700 658 38 316 1528 305 67 93 41 67 128 589 15 26 47 91 1829
100.0 14.0 0.8 6.7 325 6.5 1.4 2.0 0.9 1.4 2.7 12.5 0.3 0.6 1.0 1.9 38.9
R 100 17 1 7 42 10 - 1 - 1 - 12 - - - - 36
LimE 100.0 17.0 1.0 7.0 420 10.0 - 1.0 - 1.0 - 12.0 - - - - 36.0
=xm 100 23 - 6 20 7 1 1 1 - - 3 1 1 - - 50
100.0 23.0 - 6.0 20.0 7.0 1.0 1.0 1.0 - - 3.0 1.0 1.0 - - 50.0
wxE 100 13 2 8 35 8 1 2 2 1 5 6 1 - 2 4 33
~ 100.0 13.0 2.0 8.0 35.0 8.0 1.0 2.0 2.0 1.0 5.0 6.0 1.0 - 2.0 4.0 33.0
=i 100 15 1 9 38 8 - 3 - - 3 7 - 1 - 5 37
B 100.0 15.0 1.0 9.0 38.0 8.0 - 3.0 - - 3.0 7.0 - 1.0 - 5.0 37.0
1 100 20 - 16 39 11 - 3 1 2 5 13 - - 1 - 23
B 100.0 20.0 - 16.0 39.0 11.0 - 3.0 1.0 2.0 5.0 13.0 - - 1.0 - 23.0
L8 100 17 - 9 32 5 - 2 1 1 3 10 - - 1 2 34
B 100.0 17.0 - 9.0 320 5.0 - 2.0 1.0 1.0 3.0 10.0 - - 1.0 2.0 34.0
e e 100 14 1 8 37 10 2 1 1 - 1 9 - - - 2 36
B 100.0 14.0 1.0 8.0 37.0 10.0 2.0 1.0 1.0 - 1.0 9.0 - - - 2.0 36.0
452 100 9 - 9 31 4 - - - 3 2 10 - - 1 2 42
B 100.0 9.0 - 9.0 31.0 4.0 - - - 3.0 2.0 10.0 - - 1.0 2.0 420
iFoKE 100 13 - 9 34 5 1 1 1 1 - 12 - - 3 4 38
B 100.0 13.0 - 9.0 340 5.0 1.0 1.0 1.0 1.0 - 12.0 - - 3.0 4.0 38.0
BER 100 16 1 6 33 3 - 2 - - 1 6 - - 1 1 42
o 100.0 16.0 1.0 6.0 33.0 3.0 - 2.0 - - 1.0 6.0 - - 1.0 1.0 420
= 100 14 - 5 26 2 1 - - 1 1 9 - - - 1 52
HER 100.0 14.0 - 5.0 26.0 2.0 1.0 - - 1.0 1.0 9.0 - - - 1.0 52.0
TR 100 15 - 5 40 2 1 1 1 - 2 10 1 1 2 - 39
a 100.0 15.0 - 5.0 40.0 2.0 1.0 1.0 1.0 - 2.0 10.0 1.0 1.0 2.0 - 39.0
o 100 10 3 9 31 4 3 4 2 3 6 16 2 2 2 1 46
- 100.0 10.0 3.0 9.0 31.0 4.0 3.0 4.0 2.0 3.0 6.0 16.0 2.0 2.0 2.0 1.0 46.0
2| 100 16 2 6 25 8 2 2 2 3 - 10 - - - - 41
U 100.0 16.0 2.0 6.0 25.0 8.0 2.0 2.0 2.0 3.0 - 10.0 - - - - 410
g5 m 100 17 - 4 41 7 - 2 - - 4 12 - - - - 34
B 100.0 17.0 - 4.0 410 7.0 - 2.0 - - 4.0 12.0 - - - - 34.0
=18 100 13 - 14 37 11 - 3 - - 4 6 1 2 2 4 29
= 100.0 13.0 - 14.0 37.0 11.0 - 3.0 - - 4.0 6.0 1.0 2.0 2.0 4.0 29.0
i 100 15 - 10 38 12 - 2 2 2 2 11 1 1 2 3 28
a 100.0 15.0 - 10.0 38.0 12.0 - 2.0 2.0 2.0 2.0 11.0 1.0 1.0 2.0 3.0 28.0
538 100 17 - 8 36 6 - 3 - 1 2 8 - 1 1 6 29
B 100.0 17.0 - 8.0 36.0 6.0 - 3.0 - 1.0 2.0 8.0 - 1.0 1.0 6.0 29.0
L 100 13 1 10 26 6 2 1 - - 2 14 - - 1 3 44
B 100.0 13.0 1.0 10.0 26.0 6.0 2.0 1.0 - - 2.0 14.0 - - 1.0 3.0 440
EmE 100 22 3 4 29 7 1 1 5 4 3 12 1 1 - 4 40
~ 100.0 22.0 3.0 4.0 29.0 7.0 1.0 1.0 5.0 4.0 3.0 12.0 1.0 1.0 - 4.0 40.0
%8 100 8 2 8 34 8 1 2 - - 1 13 - - - 2 40
B 100.0 8.0 2.0 8.0 34.0 8.0 1.0 2.0 - - 1.0 13.0 - - - 2.0 40.0
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)8 100 54 - 7 26 9 - 1 1 2 - 5 - - - 5 17
T 100.0 54.0 - 7.0 26.0 9.0 - 1.0 1.0 2.0 - 5.0 - - - 5.0 17.0
BiEE 100 51 2 5 23 7 - - - 1 1 11 - - - 3 17
“ 100.0 51.0 2.0 5.0 23.0 7.0 - - - 1.0 1.0 11.0 - - - 3.0 17.0
=8 100 47 1 4 19 4 - - - - - 4 - - 1 1 31
=S 100.0 47.0 1.0 4.0 19.0 4.0 - - - - - 40 - - 1.0 1.0 31.0
= e 100 53 - 4 17 4 1 - 1 2 2 10 - - 2 2 24
" 100.0 53.0 - 4.0 17.0 40 1.0 - 1.0 2.0 2.0 10.0 - - 2.0 2.0 24.0
e 100 44 2 2 23 4 - - - 1 2 6 - - - 1 26
T 100.0 44.0 2.0 2.0 23.0 4.0 - - - 1.0 2.0 6.0 - - - 1.0 26.0
. 100 48 - 4 21 3 1 - - - - 7 - - - 1 28
" 100.0 48.0 - 4.0 21.0 3.0 1.0 - - - - 7.0 - - - 1.0 28.0
AR 100 46 1 3 25 5 - 2 1 1 1 8 1 - 1 - 27
" 100.0 46.0 1.0 3.0 25.0 5.0 - 2.0 1.0 1.0 1.0 8.0 1.0 - 1.0 - 27.0
N 100 48 1 5 17 5 2 2 2 1 1 12 1 1 1 3 32
“ 100.0 48.0 1.0 5.0 17.0 5.0 2.0 2.0 2.0 1.0 1.0 12.0 1.0 1.0 1.0 3.0 32.0
=1 100 43 1 3 22 3 - - - 1 4 9 - - - 2 29
" 100.0 43.0 1.0 3.0 22.0 3.0 - - - 1.0 4.0 9.0 - - - 2.0 29.0
IR 100 44 4 3 24 4 3 3 - 1 3 12 - - - 2 22
- 100.0 44.0 4.0 3.0 24.0 4.0 3.0 3.0 - 1.0 3.0 12.0 - - - 2.0 22.0
g E 100 48 1 5 22 5 - 4 - 2 4 4 - - 1 2 26
100.0 48.0 1.0 5.0 22.0 5.0 - 40 - 2.0 4.0 4.0 - - 1.0 2.0 26.0
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#h —="T 100.0 58.0 23.0 12.0 6.0 1.0
A e 100 62 15 13 7 3
HHR 100.0 62.0 15.0 13.0 7.0 3.0
- 100 47 34 12 4 3
AR 100.0 470 34.0 12.0 4.0 3.0
100 56 22 10 8 4
ABR AT 100.0 56.0 220 10.0 8.0 4.0
100 61 23 10 4 2
=]
RER 100.0 61.0 230 10.0 40 2.0
=pE 100 54 31 6 9 -
IR 100.0 54.0 31.0 6.0 9.0 -
100 56 26 10 7 1
T =]
AR 100.0 56.0 26.0 10.0 7.0 1.0
100 59 19 15 6 1
=]
SR 100.0 59.0 19.0 15.0 6.0 1.0
100 58 27 10 2 3
B
SRR 100.0 58.0 27.0 10.0 2.0 3.0
100 61 24 11 2 2
- =]
R 100.0 61.0 240 11.0 2.0 2.0
100 57 26 9 6 2
=]
RER 100.0 57.0 26.0 9.0 6.0 2.0
100 59 28 10 - 3
=]
RS 100.0 59.0 28.0 10.0 - 3.0
P 100 58 25 8 5 4
IR 100.0 58.0 25.0 8.0 5.0 40
=i 100 48 24 19 5 4
= 100.0 48.0 240 19.0 5.0 4.0
e 100 60 23 9 2 6
o =]
BER 100.0 60.0 23.0 9.0 2.0 6.0
=i 100 64 23 10 2 1
RIARIS 100.0 64.0 23.0 10.0 2.0 1.0
_ 100 59 18 17 3 3
= =]
t2RR 100.0 59.0 18.0 17.0 3.0 3.0
100 67 13 13 3 4
FoI=N| =]
EHR 100.0 67.0 13.0 13.0 3.0 4.0
100 66 20 9 3 2
B
RIER 100.0 66.0 20.0 9.0 3.0 2.0
fe A 100 67 24 4 5 -
™ 100.0 67.0 240 4.0 50 -
100 56 28 9 4 3
Z\ 1B
AR 100.0 56.0 28.0 9.0 40 3.0
=51 100 54 25 12 6 3
o 100.0 54.0 25.0 12.0 6.0 3.0
100 55 28 13 2 2
18 =]
BRESR 100.0 55.0 28.0 13.0 2.0 20
100 66 17 10 4 3
R 100.0 66.0 17.0 10.0 4.0 3.0
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Q25. FEOOFTVAMIINRBREEZH>THS, HEENEARHICFRERL TSI EEHYFETH

Q25—3. ﬁﬁ(PCR’@?)é%lﬁ:ﬁ%%ﬁ»}nm\:

A & ke E H ES
= T o ) ES 2
# 3 x DY Y -
+ =7 & + <
% % 3 S =
* % Ly * =7
=% C Z % %
C % VA c %
% Ly A C
Ly VA
Ly
& 4700 1805 1386 984 352 173
100.0 38.4 29.5 20.9 75 3.7
- 100 41 28 24 2 5
AtimE 100.0 410 28.0 240 20 50
- 100 42 27 21 8 2
™ 100.0 420 27.0 21.0 8.0 20
wxm 100 35 26 29 8 2
™ 100.0 35.0 26.0 29.0 8.0 20
100 38 39 14 5 4
.—-—-i =]
=R 1000 380/ 390 140 5.0 40
100 36 33 19 8 4
JU =]
RER 100.0 36.0 33.0 19.0 8.0 40
L8 100 37 32 21 8 2
7o 100.0 37.0 320 21.0 8.0 20
- 100 49 25 14 5 7
= 100.0 490 25.0 14.0 50 7.0
. 100 35 28 19 11 7
= =]
TR 100.0 35.0 28.0 19.0 1.0 7.0
100 48 27 13 8 4
B
AR 100.0 48.0 27.0 13.0 8.0 4.0
100 37 24 28 9 2
=]
BER 100.0 37.0 240 28.0 9.0 2.0
100 38 31 23 5 3
- =]
BER 100.0 38.0 31.0 230 50 3.0
— 100 36 34 19 7 4
=]
TR 1000 360 340 190 7.0 40
. 100 46 25 15 9 5
R 100.0 46.0 25.0 15.0 9.0 50
100 43 30 18 9 -
= B
R IR 100.0 430 30.0 18.0 9.0 -
. 100 46 24 18 9 3
N =]
B 100.0 46.0 240 18.0 9.0 3.0
=118 100 30 31 25 10 4
it 100.0 300 31.0 25.0 10.0 40
- 100 48 25 16 9 2
™ 100.0 480 25.0 16.0 9.0 2.0
= 100 39 32 17 9 3
mITIR 100.0 39.0 32.0 17.0 9.0 3.0
100 45 24 17 12 2
FU 1B
IIZR 100.0 45.0 24.0 17.0 12.0 2.0
100 30 33 27 8 2
kA=
RHE 100.0 30.0 33.0 27.0 8.0 20
100 34 29 26 7 4
=]
I5e &2 1% 100.0 34.0 29.0 26.0 7.0 40
100 32 30 25 7 6
+% =18
AR R 100.0 32.0 30.0 250 7.0 6.0
100 31 35 17 10 7
= =]
B BHR 100.0 31.0 35.0 17.0 10.0 7.0
(£ —z8 100 39 30 24 5 2
#h —="T 100.0 39.0 30.0 240 5.0 2.0
By 100 41 26 21 9 3
HHR 100.0 41.0 26.0 21.0 9.0 30
- 100 35 25 25 11 4
AR 100.0 35.0 25.0 25.0 11.0 40
100 32 27 22 11 8
ABR AT 100.0 320 27.0 220 11.0 8.0
100 41 27 22 6 4
=]
RER 100.0 410 27.0 220 6.0 40
=a8 100 40 35 15 6 4
B 100.0 400 35.0 15.0 6.0 4.0
D 100 30 34 23 11 2
AR 100.0 30.0 340 23.0 11.0 20
100 34 32 21 10 3
=]
SR 100.0 34.0 320 21.0 10.0 3.0
100 40 29 20 7 4
B
SRR 100.0 400 29.0 20.0 7.0 40
100 37 30 23 7 3
- B
R 100.0 37.0 30.0 23.0 7.0 3.0
100 37 29 23 10 1
=]
RER 100.0 37.0 29.0 230 10.0 1.0
LOe 100 32 31 25 7 5
™ 100.0 320 31.0 25.0 7.0 50
o 100 30 31 22 10 7
IR 100.0 30.0 31.0 220 10.0 7.0
=)= 100 30 36 20 10 4
=R 100.0 300 36.0 20.0 10.0 4.0
o 100 37 30 23 6 4
o =]
BRR 100.0 37.0 30.0 23.0 6.0 4.0
=1 100 38 27 21 11 3
AR 100.0 38.0 27.0 21.0 11.0 3.0
_ 100 44 19 26 6 5
= =]
t2RR 100.0 440 19.0 26.0 6.0 50
100 46 25 19 6 4
FoI=N| =]
EHR 100.0 46.0 250 19.0 6.0 4.0
100 38 27 22 8 5
B
RIER 100.0 38.0 27.0 220 8.0 50
P 100 44 29 20 5 2
™ 100.0 44.0 29.0 20.0 50 2.0
K438 100 30 30 26 10 4
7 100.0 30.0 30.0 26.0 10.0 40
i 8 100 37 28 21 10 4
o 100.0 37.0 28.0 21.0 10.0 40
100 35 31 27 4 3
18 =]
BRESR 100.0 35.0 31.0 27.0 4.0 3.0
100 48 26 14 11 1
R 100.0 48.0 26.0 14.0 11.0 1.0




Q25. FEOOFTVAMIINRBREEZH>THS, HEENEARHICFRERL TSI EEHYFETH
TELKTEREADIFILRER LB E

Q25—4. ?#iﬁbﬁtﬁﬁ@f'c\ bt S b

A & ke E H ES
= T o ) ES 2
# 3 x DY Y -
+ =7 & + <
% % 3 S =
* % Ly * =7
=% C Z % %
C % VA c %
% Ly A C
Ly VA
Ly
& 4700 1689 1457 944 420 189
100.0 35.9 31.0 20.1 8.9 4.0
- 100 41 23 28 4 4
AtimE 100.0 410 23.0 28.0 40 40
- 100 47 26 16 8 3
™ 100.0 470 26.0 16.0 8.0 30
wxm 100 34 34 19 10 3
B 100.0 340 34.0 19.0 10.0 3.0
100 43 37 10 8 2
=R 1000 430/ 370 100 8.0 20
100 39 37 13 7 4
JU =]
RER 100.0 39.0 37.0 13.0 7.0 40
L8 100 34 37 16 11 2
7o 100.0 340 37.0 16.0 11.0 20
- 100 45 24 21 7 3
= 100.0 450 240 21.0 7.0 3.0
. 100 36 28 20 7 9
= =]
TR 100.0 36.0 28.0 20.0 7.0 9.0
100 43 27 14 11 5
B
AR 100.0 430 27.0 14.0 11.0 50
100 39 24 18 13 6
=]
BER 100.0 39.0 240 18.0 13.0 6.0
100 30 33 29 5 3
- =]
BER 100.0 30.0 33.0 29.0 50 3.0
— 100 41 29 15 8 7
=]
TR 1000 410 200 150 8.0 7.0
. 100 33 35 17 9 6
R 100.0 33.0 35.0 17.0 9.0 6.0
100 37 24 26 12 1
= B
R IR 100.0 37.0 240 26.0 12.0 1.0
. 100 45 26 21 6 2
N =]
B 100.0 45.0 26.0 21.0 6.0 20
=118 100 26 42 18 11 3
it 100.0 26.0 420 18.0 11.0 3.0
e 100 41 27 18 11 3
™ 100.0 410 27.0 18.0 11.0 3.0
= 100 35 39 15 6 5
mITIR 100.0 35.0 39.0 15.0 6.0 50
100 42 25 19 9 5
FU 1B
IIZR 100.0 42.0 25.0 19.0 9.0 5.0
100 33 33 22 9 3
kA=
RHE 100.0 33.0 33.0 220 9.0 3.0
100 40 30 17 8 5
=]
I5e &2 1% 100.0 400 30.0 17.0 8.0 50
100 34 30 23 8 5
+% =18
AR R 100.0 34.0 30.0 23.0 8.0 5.0
100 28 38 15 11 8
= =]
B BHR 100.0 28.0 38.0 15.0 11.0 8.0
(£ —z8 100 36 33 22 8 1
#h —="T 100.0 36.0 33.0 220 8.0 1.0
By 100 36 29 18 10 7
HHR 100.0 36.0 29.0 18.0 10.0 7.0
- 100 32 34 15 16 3
AR 100.0 320 34.0 15.0 16.0 3.0
100 34 26 19 14 7
ABR AT 100.0 34.0 26.0 19.0 14.0 7.0
100 43 29 15 8 5
=]
RER 100.0 430 290 15.0 8.0 50
=a8 100 37 33 19 6 5
B 100.0 37.0 33.0 19.0 6.0 50
D 100 38 27 25 8 2
AR 100.0 38.0 27.0 25.0 8.0 20
100 33 37 23 5 2
=]
SR 100.0 33.0 37.0 23.0 50 20
100 35 28 23 9 5
B
SRR 100.0 35.0 28.0 23.0 9.0 5.0
100 33 29 21 11 6
- B
R 100.0 33.0 29.0 21.0 11.0 6.0
100 35 34 21 9 1
=]
RER 100.0 35.0 340 21.0 9.0 1.0
LOe 100 37 30 16 12 5
™ 100.0 37.0 30.0 16.0 12.0 50
o 100 26 34 19 11 10
IR 100.0 26.0 34.0 19.0 11.0 10.0
=)= 100 31 35 19 11 4
=R 100.0 31.0 35.0 19.0 11.0 4.0
o 100 39 27 22 8 4
o =]
BRR 100.0 39.0 27.0 220 8.0 4.0
=1 100 41 34 13 10 2
AR 100.0 410 34.0 13.0 10.0 20
_ 100 40 22 25 8 5
= =]
t2RR 100.0 400 220 25.0 8.0 50
100 40 29 17 9 5
FoI=N| =]
EHR 100.0 400 29.0 17.0 9.0 50
100 35 32 19 9 5
B
RIER 100.0 35.0 320 19.0 9.0 50
P 100 42 30 17 8 3
™ 100.0 420 30.0 17.0 8.0 3.0
K438 100 35 35 19 7 4
7 100.0 35.0 35.0 19.0 7.0 40
i 8 100 34 31 16 17 2
o 100.0 34.0 31.0 16.0 17.0 20
100 38 28 22 10 2
18 =]
BRESR 100.0 38.0 28.0 220 10.0 20
100 42 29 17 9 3
R 100.0 420 29.0 17.0 9.0 30




Q25. FEOOFTVAMIINRBREEZH>THS, HEENEARHICFRERL TSI EEHYFETH

Q25—5. BEFNEZ THREGEDNMLRENEBZI TLEICL

A & ke E H ES
= T o ) ES 2
# 3 x DY Y -
+ =7 & + <
= % 3 S =
* % Ly * =7
=% C Z % %
C % VA c %
% Ly A C
Ly VA
LY
& tk 4700 2730 1273 483 127 86
100.0 58.1 27.1 10.3 2.7 1.8
- 100 57 21 17 2 3
AtimE 100.0 57.0 21.0 17.0 2.0 3.0
=xg 100 59 26 10 4 1
™ 100.0 59.0 26.0 10.0 4.0 1.0
w 100 59 22 17 2 -
=]
EFR 100.0 59.0 220 17.0 2.0 -
100 59 31 5 3 2
.—-—-i =]
=R 1000 590/ 310 5.0 3.0 20
100 55 34 7 2 2
JU =]
RER 100.0 55.0 34.0 7.0 2.0 2.0
L8 100 45 36 14 3 2
7o 100.0 450 36.0 14.0 3.0 2.0
- 100 64 23 10 2 1
B 100.0 64.0 230 10.0 20 1.0
e 100 63 20 10 4 3
= =]
TR 100.0 63.0 20.0 10.0 4.0 3.0
100 56 33 8 1 2
B
AR 100.0 56.0 33.0 8.0 1.0 2.0
100 53 29 12 5 1
=]
BER 100.0 53.0 29.0 12.0 5.0 1.0
100 57 27 14 - 2
- =]
BER 100.0 57.0 27.0 14.0 - 2.0
— 100 63 21 10 4 2
=]
TR 100.0 63.0 21.0 10.0 4.0 2.0
- 100 60 29 5 4 2
R 100.0 60.0 29.0 5.0 4.0 2.0
100 58 27 11 4 -
= B
R IR 100.0 58.0 27.0 11.0 4.0 -
. 100 62 22 12 3 1
N =]
B 100.0 62.0 220 12.0 3.0 1.0
=11 100 43 40 11 4 2
B 100.0 430 400 11.0 4.0 2.0
- 100 61 26 9 4 -
™ 100.0 61.0 26.0 9.0 4.0 -
sEtE 100 66 26 4 2 2
mITIR 100.0 66.0 26.0 40 2.0 2.0
100 65 26 6 1 2
FU 1B
IIZR 100.0 65.0 26.0 6.0 1.0 2.0
100 60 27 12 - 1
kA=
RHE 100.0 60.0 27.0 12.0 - 1.0
100 56 26 10 6 2
=]
I5e &2 1% 100.0 56.0 26.0 10.0 6.0 2.0
100 58 29 7 1 5
+% =18
AR R 100.0 58.0 29.0 7.0 1.0 5.0
100 53 33 7 4 3
= =]
B BHR 100.0 53.0 33.0 7.0 4.0 3.0
(£ —z8 100 57 22 18 2 1
#h —="T 100.0 57.0 220 18.0 2.0 1.0
By 100 64 18 13 2 3
HHR 100.0 64.0 18.0 13.0 20 30
- 100 49 34 12 4 1
AR 100.0 490 34.0 12.0 4.0 1.0
100 54 26 12 4 4
ABR AT 100.0 54.0 26.0 12.0 4.0 4.0
100 59 29 7 2 3
=]
RER 100.0 59.0 290 7.0 2.0 3.0
=a8 100 51 40 6 3 -
IR 100.0 51.0 400 6.0 3.0 -
100 55 23 12 8 2
T =]
AR 100.0 55.0 23.0 12.0 8.0 20
100 56 27 14 2 1
=]
REUR 100.0 56.0 27.0 14.0 2.0 1.0
100 54 27 14 4 1
B
SRR 100.0 54.0 27.0 14.0 40 1.0
100 50 34 13 1 2
- B
R 100.0 50.0 34.0 13.0 1.0 20
100 50 34 9 6 1
=]
RER 100.0 50.0 34.0 9.0 6.0 1.0
LOe 100 50 32 10 4 4
™ 100.0 50.0 320 10.0 4.0 4.0
o 100 56 26 9 3 6
IR 100.0 56.0 26.0 9.0 3.0 6.0
=1 100 49 24 17 6 4
= 100.0 490 240 17.0 6.0 4.0
o 100 61 26 10 - 3
o =]
BRR 100.0 61.0 26.0 10.0 - 3.0
= 4018 100 60 26 9 4 1
RIARIS 100.0 60.0 26.0 9.0 4.0 1.0
_ 100 60 21 16 1 2
= =]
t2RR 100.0 60.0 21.0 16.0 1.0 2.0
100 64 25 8 1 2
FoI=N| =]
EHR 100.0 64.0 250 8.0 1.0 2.0
100 57 28 8 3 4
B
RIER 100.0 57.0 28.0 8.0 3.0 4.0
fe A 100 56 31 9 3 1
AR 100.0 56.0 31.0 9.0 3.0 1.0
K431 100 56 29 10 2 3
7 100.0 56.0 29.0 10.0 2.0 3.0
100 52 24 19 1 4
= =]
=R 100.0 52.0 240 19.0 1.0 4.0
100 51 27 18 2 2
18 =]
BRESR 100.0 51.0 27.0 18.0 20 20
100 61 27 7 4 1
R 100.0 61.0 27.0 7.0 4.0 1.0
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Q25. FEOOFTVAMIINRBREEZH>THS, HEENEARHICFRERL TSI EEHYFETH
Q25—6. BATH, BRZEEDBENABENARIYEDLZE

HE & ke E H ES
= T o ) ES 2
# 3 x DY Y -
+ =7 & + <
% % 3 S =
* % Ly * =7
=% C Z % %
C % VA c %
% Ly A C
Ly VA
LY
& 4700] 2999 1111 414 94 82
100.0 63.8 23.6 8.8 2.0 1.7
- 100 64 20 12 1 3
AtimE 100.0 64.0 20.0 12.0 1.0 3.0
100 67 19 11 2 1
=8
RRRIR 100.0 67.0 19.0 11.0 2.0 1.0
w 100 63 22 14 1 -
=]
EFR 100.0 63.0 220 14.0 1.0 -
100 63 27 7 2
=R 1000 630/ 270 7.0 20 10
100 64 29 4 1 2
JU =]
RER 100.0 64.0 29.0 40 1.0 20
L8 100 59 24 13 1 3
7o 100.0 59.0 240 13.0 1.0 3.0
- 100 69 22 6 2 1
= 100.0 69.0 220 6.0 20 1.0
. 100 65 17 10 5 3
= =]
TR 100.0 65.0 17.0 10.0 50 3.0
100 68 27 2 2 1
B
AR 100.0 68.0 27.0 2.0 20 1.0
100 60 23 10 4 3
=]
BER 100.0 60.0 230 10.0 4.0 3.0
100 66 21 11 - 2
- =]
BER 100.0 66.0 21.0 11.0 - 20
— 100 72 13 8 5 2
=]
TR 1000 720 130 8.0 5.0 2.0
. 100 63 22 10 2 3
R 100.0 63.0 220 10.0 2.0 3.0
100 60 26 12 2 -
= B
R IR 100.0 60.0 26.0 12.0 20 -
. 100 66 20 10 3 1
N =]
B 100.0 66.0 20.0 10.0 3.0 1.0
=118 100 54 33 9 - 4
it 100.0 54.0 33.0 9.0 - 40
- 100 68 22 6 3 1
™ 100.0 68.0 220 6.0 3.0 1.0
= 100 68 23 6 3 -
mITIR 100.0 68.0 230 6.0 3.0 -
100 63 28 5 2 2
FU 1B
IIZR 100.0 63.0 28.0 5.0 2.0 2.0
100 67 23 8 1 1
kA=
RHE 100.0 67.0 23.0 8.0 1.0 1.0
100 62 24 7 6 1
=]
I5e &2 1% 100.0 62.0 240 70 6.0 1.0
100 69 20 7 1 3
+% =18
AR R 100.0 69.0 20.0 7.0 1.0 3.0
100 59 30 4 4 3
B4 IE
B BHR 100.0 59.0 30.0 40 4.0 3.0
(£ —z8 100 59 25 14 1 1
#h —="T 100.0 59.0 25.0 14.0 1.0 1.0
1 100 69 18 9 2 2
HHR 100.0 69.0 18.0 9.0 20 20
- 100 56 31 9 2 2
AR 100.0 56.0 31.0 9.0 20 20
100 56 26 12 3 3
ABR AT 100.0 56.0 26.0 12.0 3.0 30
100 69 21 7 1 2
=]
RER 100.0 69.0 210 7.0 1.0 20
=a8 100 59 32 5 3 1
B 100.0 59.0 320 50 3.0 1.0
100 58 22 13 6 1
T =]
AR 100.0 58.0 220 13.0 6.0 1.0
100 59 29 9 2 1
=]
REUR 100.0 59.0 29.0 9.0 20 1.0
100 61 25 9 3 2
B
SRR 100.0 61.0 25.0 9.0 30 2.0
100 63 26 6 3 2
3 =]
R 100.0 63.0 26.0 6.0 3.0 20
100 58 27 9 5 1
=]
RER 100.0 58.0 27.0 9.0 50 1.0
LOe 100 59 28 8 2 3
™ 100.0 59.0 28.0 8.0 2.0 30
o 100 59 26 9 2 4
IR 100.0 59.0 26.0 9.0 20 40
=)= 100 53 24 15 4 4
=R 100.0 53.0 240 15.0 40 4.0
o 100 64 26 7 - 3
o =]
BER 100.0 64.0 26.0 7.0 - 30
=1 100 63 26 8 2 1
AR 100.0 63.0 26.0 8.0 2.0 1.0
_ 100 66 17 14 1 2
= =]
t2RR 100.0 66.0 17.0 14.0 1.0 20
100 71 17 8 1 3
FoI=N| =]
EHR 100.0 71.0 17.0 8.0 1.0 3.0
100 67 22 6 2 3
B
RIER 100.0 67.0 220 6.0 20 3.0
P 100 67 26 6 1 -
AR 100.0 67.0 26.0 6.0 1.0 -
100 59 30 7 1 3
Z\ 1B
AR 100.0 59.0 30.0 70 1.0 3.0
100 61 22 13 2 2
= =]
=R 100.0 61.0 220 13.0 20 20
100 58 29 10 1 2
18 =]
BRESR 100.0 58.0 29.0 10.0 1.0 20
100 67 22 6 4 1
R 100.0 67.0 220 6.0 4.0 1.0
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Q25—7. RRMATHMOHELGLEDRBBEARYBH L

A & » H ES
= T o ) ES 2
# 3 x DY Y -
+ =7 & + <
= % 3 S =
* % Ly * =7
=% C Z % %
C % VA c %
% Ly A C
Ly VA
Ly
& tk 4700 2507 1423 527 147 96
100.0 53.3 30.3 11.2 3.1 2.0
e 100 49 28 18 3 2
AtimE 100.0 49.0 28.0 18.0 3.0 2.0
=xg 100 53 29 11 6 1
™ 100.0 53.0 29.0 11.0 6.0 1.0
w 100 55 26 18 1 -
=]
EFR 100.0 55.0 26.0 18.0 1.0 -
100 61 24 12 2
=R 1000 610/ 240 12.0 20 10
100 55 29 12 1 3
JU =]
RER 100.0 55.0 29.0 12.0 1.0 3.0
L8 100 49 27 17 5 2
7o 100.0 490 27.0 17.0 50 2.0
- 100 59 26 10 4 1
B 100.0 59.0 26.0 10.0 40 1.0
e 100 56 22 13 5 4
= =]
TR 100.0 56.0 220 13.0 5.0 4.0
100 57 27 11 3 2
B
AR 100.0 57.0 27.0 11.0 3.0 2.0
100 47 31 13 7 2
=]
BER 100.0 470 310 13.0 7.0 2.0
100 54 29 14 1 2
- =]
BER 100.0 54.0 29.0 14.0 1.0 2.0
— 100 59 24 10 4 3
=]
TR 100.0 59.0 240 10.0 4.0 3.0
- 100 52 33 6 5 4
R 100.0 52.0 33.0 6.0 5.0 4.0
100 55 29 15 1 -
= B
R IR 100.0 55.0 29.0 15.0 1.0 -
. 100 55 26 13 3 3
N =]
B 100.0 55.0 26.0 13.0 3.0 3.0
=11 100 44 31 18 4 3
B 100.0 440 31.0 18.0 4.0 3.0
- 100 56 30 8 6 -
™ 100.0 56.0 30.0 8.0 6.0 -
sEtE 100 54 28 10 5 3
mITIR 100.0 54.0 28.0 10.0 5.0 3.0
100 53 32 8 4 3
FU 1B
IIZR 100.0 53.0 32.0 8.0 4.0 3.0
100 50 30 17 2 1
kA=
RHE 100.0 50.0 30.0 17.0 20 1.0
100 50 30 12 5 3
=]
I5e &2 1% 100.0 50.0 30.0 12.0 5.0 3.0
100 55 30 9 3 3
+% =18
AR R 100.0 55.0 30.0 9.0 3.0 3.0
100 49 37 7 4 3
= =]
B BHR 100.0 49.0 37.0 7.0 4.0 3.0
f =g 100 50 31 17 2 -
=R 100.0 50.0 31.0 17.0 2.0 -
By 100 57 22 16 3 2
HHR 100.0 57.0 220 16.0 3.0 2.0
- 100 42 38 13 5 2
AR 100.0 420 38.0 13.0 5.0 2.0
100 51 30 12 3 4
ABR AT 100.0 51.0 30.0 12.0 3.0 4.0
100 61 25 9 3 2
=]
RER 100.0 61.0 25.0 9.0 3.0 2.0
=pE 100 50 35 12 2 1
IR 100.0 50.0 35.0 12.0 2.0 1.0
100 47 33 14 5 1
T =]
AR 100.0 470 33.0 14.0 5.0 1.0
100 48 36 10 5 1
=]
REUR 100.0 480 36.0 10.0 5.0 1.0
100 58 25 12 4 1
B
SRR 100.0 58.0 250 12.0 40 1.0
100 49 30 17 2 2
- B
R 100.0 49.0 30.0 17.0 2.0 2.0
100 52 29 11 6 2
=]
RER 100.0 52.0 29.0 11.0 6.0 2.0
LOe 100 47 35 11 4 3
™ 100.0 470 35.0 11.0 4.0 3.0
o 100 46 30 14 4 6
IR 100.0 46.0 30.0 14.0 4.0 6.0
=)= 100 48 29 15 5 3
= 100.0 48.0 29.0 15.0 5.0 3.0
o 100 57 26 11 3 3
o =]
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& 1k 4700 834 257 2661 1421 2356 401 635 1710 2038 403 2232 107 409
100.0 17.8 5.5 56.6 30.2 50.1 8.5 13.5 36.4 43.4 8.6 475 2.3 8.7
e 100 17 5 51 24 44 10 9 37 53 4 41 2 9
100.0 17.0 50 51.0 240 440 10.0 9.0 37.0 53.0 40 41.0 20 9.0
EkE 100 15 5 57 28 44 3 5 24 27 6 38 2 13
- 100.0 15.0 5.0 57.0 28.0 440 3.0 5.0 240 27.0 6.0 38.0 2.0 13.0
PO g 100 23 6 48 23 11 6 10 32 38 8 45 1 13
- 100.0 23.0 6.0 48.0 23.0 41.0 6.0 10.0 32.0 38.0 8.0 45.0 1.0 13.0
=i 18 100 27 7 56 33 50 8 19 41 38 7 41 2 10
- 100.0 27.0 7.0 56.0 33.0 50.0 8.0 19.0 41.0 38.0 7.0 41.0 2.0 10.0
FNEE 100 26 6 47 34 47 4 17 32 39 11 40 2 10
- 100.0 26.0 6.0 470 34.0 470 4.0 17.0 32.0 39.0 11.0 40.0 2.0 10.0
1L 1 100 18 4 50 20 43 7 20 34 41 9 46 1 11
- 100.0 18.0 4.0 50.0 20.0 43.0 7.0 20.0 34.0 41.0 9.0 46.0 1.0 11.0
e 100 20 11 67 31 51 10 12 36 42 11 45 3 7
- 100.0 20.0 11.0 67.0 31.0 51.0 10.0 12.0 36.0 420 11.0 450 3.0 7.0
i 18 100 15 4 60 26 46 12 8 39 44 6 45 4 10
- 100.0 15.0 4.0 60.0 26.0 46.0 12.0 8.0 39.0 440 6.0 45.0 4.0 10.0
Rk 1B 100 20 4 62 37 53 7 12 33 45 9 44 1 5
- 100.0 20.0 4.0 62.0 37.0 53.0 7.0 12.0 33.0 45.0 9.0 440 1.0 50
BEE 100 18 4 63 23 47 9 11 45 43 10 46 4 7
e 100.0 18.0 4.0 63.0 23.0 470 9.0 11.0 450 43.0 10.0 46.0 40 7.0
EEE 100 20 6 61 30 50 10 19 36 42 12 40 2 12
- 100.0 20.0 6.0 61.0 30.0 50.0 10.0 19.0 36.0 42.0 12.0 40.0 20 12.0
FiEE 100 15 11 59 28 61 5 10 40 43 14 53 1 12
- 100.0 15.0 11.0 59.0 28.0 61.0 5.0 10.0 40.0 43.0 14.0 53.0 1.0 12.0
HEH 100 24 7 64 37 52 8 19 42 43 9 43 2 3
- 100.0 240 7.0 64.0 37.0 52.0 8.0 19.0 42.0 43.0 9.0 43.0 2.0 3.0
shzs || B 100 18 4 64 25 63 7 16 50 42 14 46 3 6
R 100.0 18.0 4.0 64.0 25.0 63.0 7.0 16.0 50.0 42.0 14.0 46.0 3.0 6.0
73818 100 25 13 59 33 48 15 17 33 43 14 50 3 9
- 100.0 25.0 13.0 59.0 33.0 48.0 15.0 17.0 33.0 43.0 14.0 50.0 3.0 9.0
=118 100 16 11 54 27 37 14 8 35 37 8 41 2 7
B 100.0 16.0 11.0 54.0 270 37.0 14.0 8.0 35.0 37.0 8.0 41.0 20 7.0
5 100 20 8 59 28 45 17 16 39 36 11 52 1 4
- 100.0 20.0 8.0 59.0 28.0 450 17.0 16.0 39.0 36.0 11.0 52.0 1.0 4.0
PRl 100 25 7 49 27 42 10 9 48 43 7 44 2 4
- 100.0 25.0 7.0 49.0 27.0 42.0 10.0 9.0 48.0 43.0 7.0 440 20 4.0
MENC 100 17 3 64 37 49 14 18 49 45 10 50 3 8
- 100.0 17.0 3.0 64.0 37.0 49.0 14.0 18.0 49.0 45.0 10.0 50.0 3.0 8.0
EFHE 100 22 4 47 30 46 8 17 39 48 9 53 4 12
- 100.0 220 4.0 470 30.0 46.0 8.0 17.0 39.0 48.0 9.0 53.0 4.0 12.0
I B 158 100 21 5 61 33 55 6 13 42 43 6 54 2 7
- 100.0 21.0 50 61.0 33.0 55.0 6.0 13.0 42.0 43.0 6.0 54.0 20 7.0
£ 07 18 100 18 5 60 27 52 8 11 29 47 5 51 5 7
- 100.0 18.0 5.0 60.0 27.0 52.0 8.0 11.0 29.0 470 5.0 51.0 5.0 7.0
B5 8 100 14 5 58 21 44 8 15 51 49 8 43 3 4
= - 100.0 14.0 50 58.0 21.0 440 8.0 15.0 51.0 49.0 8.0 43.0 3.0 4.0
* —z85 100 19 7 55 28 51 6 10 34 40 6 44 2 12
#ho|T=T 100.0 19.0 1.0 55.0 28.0 51.0 6.0 10.0 34.0 40.0 6.0 440 20 12.0
Al 2518 100 19 6 59 26 45 7 15 30 39 10 39 1 12
RIS 100.0 19.0 6.0 59.0 26.0 45.0 7.0 15.0 30.0 39.0 10.0 39.0 1.0 12.0
ETER T 100 21 6 61 29 61 10 15 41 48 10 48 8 9
100.0 21.0 6.0 61.0 29.0 61.0 10.0 15.0 41.0 48.0 10.0 48.0 8.0 9.0
KRR A 100 13 5 56 23 58 8 25 41 43 9 52 3 7
100.0 13.0 5.0 56.0 23.0 58.0 8.0 25.0 41.0 43.0 9.0 52.0 3.0 7.0
EE 100 25 9 52 27 56 7 14 45 40 11 50 - 12
oY 100.0 250 9.0 52.0 270 56.0 7.0 14.0 450 40.0 11.0 50.0 - 12.0
Z@E 100 29 7 60 31 56 11 13 33 50 11 51 4 6
AR 100.0 29.0 7.0 60.0 31.0 56.0 11.0 13.0 33.0 50.0 11.0 51.0 4.0 6.0
I 100 23 7 61 29 47 6 15 34 40 7 49 1 8
- 100.0 23.0 7.0 61.0 29.0 470 6.0 15.0 340 40.0 7.0 49.0 1.0 8.0
£ fy 18 100 21 4 49 23 45 12 15 23 36 6 43 1 10
mEar 100.0 21.0 4.0 49.0 23.0 450 12.0 15.0 23.0 36.0 6.0 43.0 1.0 10.0
EiEE 100 20 8 54 25 42 11 18 36 34 9 44 2 13
- 100.0 20.0 8.0 54.0 250 420 11.0 18.0 36.0 34.0 9.0 440 20 13.0
1L 100 22 1 58 27 44 15 16 36 39 10 48 1 9
- 100.0 22.0 1.0 58.0 27.0 440 15.0 16.0 36.0 39.0 10.0 48.0 1.0 9.0
=T 100 22 10 46 30 48 13 16 34 39 5 45 1 12
- 100.0 22.0 10.0 46.0 30.0 48.0 13.0 16.0 34.0 39.0 50 450 1.0 12.0
sl 100 16 2 47 23 44 8 10 38 41 9 43 1 11
- 100.0 16.0 2.0 470 23.0 440 8.0 10.0 38.0 41.0 9.0 43.0 1.0 11.0
e 100 19 7 54 25 46 10 13 30 38 13 48 4 7
e 100.0 19.0 7.0 54.0 25.0 46.0 10.0 13.0 30.0 38.0 13.0 48.0 4.0 7.0
e 100 17 7 43 28 34 9 10 36 33 12 43 - 12
- 100.0 17.0 7.0 43.0 28.0 34.0 9.0 10.0 36.0 33.0 12.0 43.0 - 12.0
BE S 100 22 8 51 33 42 11 10 35 40 15 45 3 8
= 100.0 220 8.0 51.0 33.0 420 11.0 10.0 35.0 40.0 15.0 450 3.0 8.0
=418 100 17 5 45 26 46 10 13 36 40 10 41 - 9
AR 100.0 17.0 50 45.0 26.0 46.0 10.0 13.0 36.0 40.0 10.0 41.0 - 9.0
1= 100 19 3 56 23 54 8 6 44 43 4 46 2 14
- 100.0 19.0 3.0 56.0 23.0 54.0 8.0 6.0 440 43.0 4.0 46.0 2.0 14.0
e 100 12 8 60 27 48 10 11 29 35 5 48 2 9
- 100.0 12.0 8.0 60.0 270 48.0 10.0 11.0 29.0 35.0 50 48.0 2.0 9.0
Ei5E 100 22 7 52 29 44 14 9 37 33 7 47 1 7
- 100.0 22.0 7.0 52.0 29.0 440 14.0 9.0 37.0 33.0 7.0 47.0 1.0 7.0
B AR 100 27 9 58 27 55 8 6 39 42 8 54 2 9
- 100.0 27.0 9.0 58.0 27.0 55.0 8.0 6.0 39.0 42.0 8.0 54.0 20 9.0
K418 100 19 5 59 30 45 13 12 33 44 7 51 2 8
- 100.0 19.0 50 59.0 30.0 45.0 13.0 12.0 33.0 440 7.0 51.0 20 8.0
=i 1 100 21 6 49 26 45 10 16 32 38 6 35 1 15
- 100.0 21.0 6.0 49.0 26.0 45.0 10.0 16.0 32.0 38.0 6.0 35.0 1.0 15.0
RS 100 24 11 60 30 44 11 14 27 37 6 50 3 12
- 100.0 240 11.0 60.0 30.0 440 11.0 14.0 27.0 37.0 6.0 50.0 3.0 12.0
g e 100 20 5 45 22 43 6 6 38 39 8 45 - 15
100.0 20.0 5.0 450 22.0 43.0 6.0 6.0 38.0 39.0 8.0 45.0 - 15.0
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100.0 86.0 43.1 52.1 69.2 438 22.0 11.9 20.2 0.7 6.3
tm 100 87 41 48 70 46 26 15 19 - 7
100.0 87.0 41.0 48.0 70.0 46.0 26.0 15.0 19.0 - 7.0
sz 100 87 41 41 65 29 18 8 14 1 7
e 100.0 87.0 41.0 41.0 65.0 29.0 18.0 8.0 14.0 1.0 7.0
wxE 100 86 31 50 54 30 12 5 14 1 9
" 100.0 86.0 31.0 50.0 54.0 30.0 12.0 5.0 14.0 1.0 9.0
i 100 88 41 59 63 42 22 12 15 - 6
T 100.0 88.0 41.0 59.0 63.0 420 22.0 12.0 15.0 - 6.0
1 100 82 33 48 61 36 18 12 17 1 11
T 100.0 82.0 33.0 48.0 61.0 36.0 18.0 12.0 17.0 1.0 11.0
L8 100 83 26 45 56 33 24 11 22 2 7
T 100.0 83.0 26.0 45.0 56.0 33.0 24.0 11.0 22.0 2.0 7.0
EEE 100 88 42 59 68 49 31 10 27 - 4
T 100.0 88.0 42.0 59.0 68.0 49.0 31.0 10.0 27.0 - 4.0
452 100 83 36 48 72 47 21 9 26 1 11
“ 100.0 83.0 36.0 48.0 72.0 47.0 21.0 9.0 26.0 1.0 11.0
A 100 80 34 61 67 41 23 14 19 1 5
T 100.0 80.0 34.0 61.0 67.0 41.0 23.0 14.0 19.0 1.0 5.0
BER 100 85 40 58 70 39 23 19 22 2 8
o 100.0 85.0 40.0 58.0 70.0 39.0 23.0 19.0 22.0 2.0 8.0
BEE 100 80 38 47 73 48 20 14 22 1 9
100.0 80.0 38.0 47.0 73.0 48.0 20.0 14.0 22.0 1.0 9.0
Fzg 100 86 45 56 74 46 26 14 13 - 9
T 100.0 86.0 45.0 56.0 74.0 46.0 26.0 14.0 13.0 - 9.0
s 100 84 52 54 72 53 29 17 23 - 6
100.0 84.0 52.0 54.0 72.0 53.0 29.0 17.0 23.0 - 6.0
)| 100 84 41 55 74 38 16 6 20 1 4
SR 100.0 84.0 41.0 55.0 74.0 38.0 16.0 6.0 20.0 1.0 4.0
gm0 100 85 42 49 7 45 24 18 27 - 7
™ 100.0 85.0 420 49.0 71.0 45.0 24.0 18.0 27.0 - 7.0
=118 100 78 34 46 69 30 15 8 12 2 5
e 100.0 78.0 34.0 46.0 69.0 30.0 15.0 8.0 12.0 2.0 5.0
)I|E 100 82 42 49 69 37 24 11 27 - 4
T 100.0 82.0 42.0 49.0 69.0 37.0 24.0 11.0 27.0 - 4.0
15351 100 88 43 41 73 50 24 9 28 1 3
" 100.0 88.0 43.0 41.0 73.0 50.0 24.0 9.0 28.0 1.0 3.0
L5 100 88 44 49 74 50 29 9 29 - 7
T 100.0 88.0 44.0 49.0 74.0 50.0 29.0 9.0 29.0 - 7.0
EmE 100 89 41 45 70 42 24 8 23 - 7
T 100.0 89.0 41.0 45.0 70.0 42.0 24.0 8.0 23.0 - 7.0
%28 100 86 38 57 67 43 21 9 20 1 8
“ 100.0 86.0 38.0 57.0 67.0 43.0 21.0 9.0 20.0 1.0 8.0
sarm 100 93 39 56 66 41 19 12 15 1 5
100.0 93.0 39.0 56.0 66.0 41.0 19.0 12.0 15.0 1.0 5.0
BaE 100 92 43 48 72 34 16 11 24 - 3
== " 100.0 92.0 43.0 48.0 72.0 34.0 16.0 11.0 24.0 - 3.0
(£ —s8 100 80 38 50 68 37 21 12 21 2 8
#h | T="T 100.0 80.0 38.0 50.0 68.0 37.0 21.0 12.0 21.0 2.0 8.0
Al ., o 100 85 46 61 71 45 18 16 21 1 7
R 100.0 85.0 46.0 61.0 71.0 45.0 18.0 16.0 21.0 1.0 7.0
- 100 85 38 48 65 41 23 6 15 1 9
SRR 100.0 85.0 38.0 48.0 65.0 41.0 23.0 6.0 15.0 1.0 9.0
100 88 44 54 60 48 22 9 19 1 5
BRI 100.0 88.0 44.0 54.0 60.0 48.0 22.0 9.0 19.0 1.0 5.0
s 100 78 34 48 63 35 17 9 24 - 10
it 100.0 78.0 34.0 48.0 63.0 35.0 17.0 9.0 24.0 - 10.0
=pE 100 91 46 63 78 45 25 11 20 1 2
ISR 100.0 91.0 46.0 63.0 78.0 45.0 25.0 11.0 20.0 1.0 2.0
%0112 100 82 36 45 65 40 17 11 14 - 9
T 100.0 82.0 36.0 45.0 65.0 40.0 17.0 11.0 14.0 - 9.0
&y 1S 100 85 40 47 58 36 22 9 19 1 10
R 100.0 85.0 40.0 47.0 58.0 36.0 22.0 9.0 19.0 1.0 10.0
2ipe 100 76 29 41 64 35 15 4 16 1 7
T 100.0 76.0 29.0 41.0 64.0 35.0 15.0 4.0 16.0 1.0 7.0
L8 100 85 45 55 67 43 24 8 17 - 8
B 100.0 85.0 45.0 55.0 67.0 43.0 24.0 8.0 17.0 - 8.0
LEE 100 81 43 49 66 46 19 8 20 2 9
" 100.0 81.0 430 49.0 66.0 46.0 19.0 8.0 20.0 2.0 9.0
L0 100 82 34 47 56 35 21 7 16 - 10
T 100.0 82.0 34.0 47.0 56.0 35.0 21.0 7.0 16.0 - 10.0
S 100 88 36 55 65 44 22 10 19 - 7
o 100.0 88.0 36.0 55.0 65.0 44.0 22.0 10.0 19.0 - 7.0
)18 100 83 30 44 56 41 17 12 16 1 10
100.0 83.0 30.0 44.0 56.0 41.0 17.0 12.0 16.0 1.0 10.0
BiEE 100 85 43 51 66 46 26 14 24 1 6
T 100.0 85.0 43.0 51.0 66.0 46.0 26.0 14.0 24.0 1.0 6.0
=48 100 80 42 45 67 41 28 7 20 - 10
mIARIE 100.0 80.0 420 45.0 67.0 41.0 28.0 7.0 20.0 - 10.0
15 100 81 48 42 72 46 29 7 20 2 8
T 100.0 81.0 48.0 42.0 72.0 46.0 29.0 7.0 20.0 2.0 8.0
B e 100 85 41 52 63 48 23 8 23 1 11
“ 100.0 85.0 41.0 52.0 63.0 48.0 23.0 8.0 23.0 1.0 11.0
i 100 83 33 45 63 44 18 10 15 1 6
T 100.0 83.0 33.0 45.0 63.0 44.0 18.0 10.0 15.0 1.0 6.0
AR 100 85 47 46 71 51 23 6 24 1 3
T 100.0 85.0 47.0 46.0 71.0 51.0 23.0 6.0 24.0 1.0 3.0
SN 100 84 47 57 68 41 24 10 24 - 6
T 100.0 84.0 47.0 57.0 68.0 41.0 24.0 10.0 24.0 - 6.0
_ 100 88 42 50 55 42 19 9 14 - 7
T 100.0 88.0 42.0 50.0 55.0 42.0 19.0 9.0 14.0 - 7.0
EREE 100 89 44 54 68 50 29 10 13 1 6
" 100.0 89.0 44.0 54.0 68.0 50.0 29.0 10.0 13.0 1.0 6.0
hig e 100 80 43 45 56 48 18 6 17 1 13
100.0 80.0 43.0 45.0 56.0 48.0 18.0 6.0 17.0 1.0 13.0
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100.0 80.6 440 16.0 35.8 414 38.2 34.0 19.3 36.1 52.7 49.2 33.0 406 25.1 21.0 416 46.8 0.3 7.0
- 100 74 47 7 28 38 32 35 22 37 44 44 29 34 27 16 35 47 - 14
100.0 74.0 470 7.0 28.0 38.0 32.0 35.0 220 37.0 440 440 29.0 34.0 27.0 16.0 35.0 470 - 14.0
= 100 71 35 11 36 38 34 22 16 28 46 39 27 38 20 15 33 33 1 9
e 100.0 71.0 35.0 1.0 36.0 38.0 34.0 220 16.0 28.0 46.0 39.0 27.0 38.0 20.0 15.0 33.0 33.0 1.0 9.0
. 100 68 27 12 25 32 30 24 13 24 36 39 23 25 13 16 36 39 - 10
BT 100.0 68.0 27.0 12.0 25.0 32.0 30.0 24.0 13.0 24.0 36.0 39.0 23.0 25.0 13.0 16.0 36.0 39.0 - 10.0
i 100 76 31 22 30 39 36 32 20 35 48 46 41 36 26 21 40 42 - 12
" 100.0 76.0 31.0 22.0 30.0 39.0 36.0 32.0 20.0 35.0 48.0 46.0 410 36.0 26.0 21.0 40.0 420 - 12.0
HE E 100 75 35 14 31 33 34 31 14 29 48 45 37 42 32 22 45 58 1 5
0 100.0 75.0 35.0 14.0 31.0 33.0 34.0 31.0 14.0 29.0 48.0 450 37.0 420 32.0 220 450 58.0 1.0 5.0
L2 100 82 39 18 30 41 39 26 20 33 56 41 24 26 19 16 40 40 - 4
0 100.0 82.0 39.0 18.0 30.0 410 39.0 26.0 20.0 33.0 56.0 410 240 26.0 19.0 16.0 400 40.0 - 40
. 100 86 54 19 28 40 38 29 18 29 53 51 32 36 21 21 39 37 - 5
™ 100.0 86.0 54.0 19.0 28.0 40.0 38.0 29.0 18.0 29.0 53.0 51.0 32.0 36.0 21.0 21.0 39.0 37.0 - 50
0 2 100 74 49 19 30 45 41 31 15 30 51 53 31 39 27 25 43 41 2 14
™ 100.0 74.0 49.0 19.0 30.0 45.0 410 31.0 15.0 30.0 51.0 53.0 31.0 39.0 27.0 25.0 430 410 20 14.0
. 100 84 44 17 38 46 41 32 20 33 55 39 36 39 23 21 36 33 - 3
" 100.0 84.0 440 17.0 38.0 46.0 410 320 20.0 33.0 55.0 39.0 36.0 39.0 23.0 21.0 36.0 33.0 - 3.0
BEE 100 82 47 17 41 53 42 46 28 40 61 53 37 53 28 30 45 52 1 4
" 100.0 82.0 47.0 17.0 410 53.0 420 46.0 28.0 40.0 61.0 53.0 37.0 53.0 28.0 30.0 45.0 52.0 1.0 40
_— 100 75 40 18 37 35 40 29 17 38 51 48 34 38 19 23 33 43 1 11
™ 100.0 75.0 400 18.0 37.0 35.0 400 29.0 17.0 38.0 51.0 480 34.0 38.0 19.0 23.0 33.0 430 1.0 11.0
— 100 76 45 23 38 44 44 40 23 4 61 52 37 45 32 25 47 55 - 8
™ 100.0 76.0 450 23.0 38.0 440 440 40.0 23.0 41.0 61.0 52.0 37.0 45.0 32.0 25.0 470 55.0 - 8.0
- 100 77 49 23 47 50 47 39 29 48 56 52 36 42 27 19 42 51 - 4
100.0 77.0 49.0 23.0 470 50.0 470 39.0 29.0 480 56.0 52.0 36.0 420 27.0 19.0 420 51.0 - 40
s )| 8 100 79 39 20 36 41 31 29 12 32 51 49 28 33 17 18 35 44 - 4
s 100.0 79.0 39.0 20.0 36.0 410 31.0 29.0 12.0 32.0 51.0 49.0 28.0 33.0 17.0 18.0 35.0 440 - 40
P 100 85 35 15 32 45 35 34 25 32 50 49 34 39 21 24 46 42 - 6
" 100.0 85.0 35.0 15.0 320 450 35.0 34.0 25.0 32.0 50.0 49.0 34.0 39.0 21.0 240 46.0 420 - 6.0
=1 100 71 37 12 29 37 30 30 14 26 47 29 24 31 16 13 30 31 1 9
=R 100.0 71.0 37.0 12.0 29.0 37.0 30.0 30.0 14.0 26.0 470 29.0 240 31.0 16.0 13.0 30.0 31.0 1.0 9.0
——— 100 78 47 20 30 4 50 42 32 39 54 53 39 38 30 22 44 53 - 5
100.0 78.0 47.0 20.0 30.0 410 50.0 420 32.0 39.0 54.0 53.0 39.0 38.0 30.0 220 440 53.0 - 5.0
- 100 88 49 18 39 44 47 4 20 42 60 46 41 40 26 24 46 42 - 3
™ 100.0 88.0 49.0 18.0 39.0 440 470 41.0 20.0 420 60.0 46.0 41.0 40.0 26.0 240 46.0 420 - 3.0
LEE 100 83 49 16 40 46 40 39 29 42 56 48 35 47 24 25 39 42 - 11
™ 100.0 83.0 49.0 16.0 40.0 46.0 40.0 39.0 29.0 420 56.0 48.0 35.0 470 24.0 25.0 39.0 420 - 11.0
. 100 77 33 14 29 37 37 38 24 39 50 48 40 39 24 22 41 48 - 9
" 100.0 77.0 33.0 14.0 29.0 37.0 37.0 38.0 240 39.0 50.0 48.0 40.0 39.0 240 22.0 41.0 480 - 9.0
- 100 83 42 7 29 42 44 42 18 32 53 52 30 45 19 20 41 44 1 6
" 100.0 83.0 420 7.0 29.0 420 440 420 18.0 32.0 53.0 52.0 30.0 45.0 19.0 20.0 41.0 440 1.0 6.0
54712 100 84 38 15 36 41 42 33 18 30 51 42 29 41 18 19 38 38 1 5
" 100.0 84.0 38.0 15.0 36.0 410 420 33.0 18.0 30.0 51.0 420 29.0 410 18.0 19.0 38.0 38.0 1.0 5.0
418 100 78 50 13 33 36 31 33 15 30 47 47 34 42 28 20 44 46 1 6
B ™ 100.0 78.0 50.0 13.0 33.0 36.0 31.0 33.0 15.0 30.0 470 470 34.0 420 28.0 20.0 440 46.0 1.0 6.0
I —s8 100 76 42 17 38 38 37 32 16 26 38 46 31 36 17 22 29 33 - 10
th —="% 100.0 76.0 420 17.0 38.0 38.0 37.0 32.0 16.0 26.0 38.0 46.0 31.0 36.0 17.0 22.0 29.0 33.0 - 10.0
bl _ 100 82 55 16 31 44 36 34 18 40 53 45 35 46 26 26 38 42 - 6
R 100.0 82.0 55.0 16.0 31.0 440 36.0 34.0 18.0 40.0 53.0 45.0 35.0 46.0 26.0 26.0 38.0 420 - 6.0
pa— 100 81 43 14 27 41 38 33 14 44 55 39 29 38 22 20 42 52 1 6
100.0 81.0 430 14.0 27.0 410 38.0 33.0 14.0 44.0 55.0 39.0 29.0 38.0 220 20.0 420 52.0 1.0 6.0
— 100 83 45 21 29 37 42 31 18 34 53 44 31 37 25 21 40 46 - 6
100.0 83.0 45.0 21.0 29.0 37.0 420 31.0 18.0 34.0 53.0 44.0 31.0 37.0 25.0 21.0 40.0 46.0 - 6.0
o 100 76 33 12 23 36 32 37 20 35 57 40 27 33 21 20 32 39 - 13
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e 100 78 13 23 12 8 14 38 6 9 - 5 - 1 7 1 10
" 100.0 78.0 13.0 23.0 12.0 8.0 14.0 38.0 6.0 9.0 - 5.0 - 1.0 7.0 1.0 10.0
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™ 100.0 83.0 17.0 33.0 17.0 14.0 23.0 50.0 11.0 24.0 40 7.0 2.0 1.0 8.0 - 6.0
R 100 83 14 44 17 9 19 44 7 7 - 5 1 1 17 1 6
100.0 83.0 14.0 440 17.0 9.0 19.0 440 7.0 7.0 - 5.0 1.0 1.0 17.0 1.0 6.0
L 100 90 14 31 14 9 24 53 13 11 - 2 1 2 10 - 3
100.0 90.0 14.0 31.0 14.0 9.0 24.0 53.0 13.0 11.0 - 2.0 1.0 2.0 10.0 - 3.0
—_ 100 85 18 37 12 15 22 47 7 16 - 8 - 2 11 1 2
100.0 85.0 18.0 37.0 12.0 15.0 22.0 470 7.0 16.0 - 8.0 - 2.0 11.0 1.0 2.0
i 100 79 13 28 20 8 20 54 5 18 1 4 1 - 14 - 8
i 100.0 79.0 13.0 28.0 20.0 8.0 20.0 54.0 5.0 18.0 1.0 4.0 1.0 - 14.0 - 8.0
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100.0 82.0 9.0 17.0 14.0 14.0 23.0 53.0 7.0 10.0 1.0 2.0 - - 11.0 - 1.0
HER 100 76 9 26 13 10 26 46 8 21 2 4 1 - 8 2 7
o 100.0 76.0 9.0 26.0 13.0 10.0 26.0 46.0 8.0 21.0 2.0 40 1.0 - 8.0 2.0 7.0
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100.0 84.0 19.0 25.0 12.0 9.0 20.0 42,0 6.0 22.0 2.0 5.0 3.0 3.0 15.0 1.0 7.0
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100.0 84.0 8.0 20.0 9.0 13.0 21.0 49.0 3.0 13.0 4.0 5.0 - 1.0 7.0 - 3.0
— 100 84 15 31 1 8 20 46 10 21 1 6 1 1 10 - 5
100.0 84.0 15.0 31.0 11.0 8.0 20.0 46.0 10.0 21.0 1.0 6.0 1.0 1.0 10.0 - 5.0
=18 100 83 15 44 10 14 20 50 4 16 7 7 - - 16 5 3
= 100.0 83.0 15.0 440 10.0 14.0 20.0 50.0 4.0 16.0 7.0 7.0 ~ - 16.0 5.0 3.0
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" 100.0 78.0 11.0 31.0 21.0 16.0 22.0 46.0 3.0 12.0 1.0 4.0 - - 17.0 - 7.0
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100.0 84.0 10.0 42.0 14.0 20.0 27.0 54.0 9.0 23.0 - 4.0 1.0 - 15.0 3.0 4.0
L5 100 83 17 37 17 16 28 49 8 15 3 9 1 1 1 1 8
“ 100.0 83.0 17.0 37.0 17.0 16.0 28.0 49.0 8.0 15.0 3.0 9.0 1.0 1.0 11.0 1.0 8.0
EmE 100 83 15 35 18 12 20 38 12 11 2 7 2 2 14 3 6
o 100.0 83.0 15.0 35.0 18.0 12.0 20.0 38.0 12.0 11.0 2.0 7.0 2.0 2.0 14.0 3.0 6.0
e 100 86 11 33 16 14 24 51 6 19 1 2 - - 10 2 2
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] L1 100 86 10 35 12 11 24 46 2 8 - 4 - - 10 - 3
™ 100.0 86.0 10.0 35.0 12.0 11.0 240 46.0 2.0 8.0 - 4.0 - - 10.0 - 3.0
EBE 100 87 12 37 10 14 22 45 6 14 1 4 1 - 16 2 7
100.0 87.0 12.0 37.0 10.0 14.0 22.0 450 6.0 14.0 1.0 4.0 1.0 - 16.0 2.0 7.0
e 100 85 14 21 10 12 12 46 7 7 - 5 - 1 6 1 2
" 100.0 85.0 14.0 21.0 10.0 12.0 12.0 46.0 7.0 7.0 - 5.0 - 1.0 6.0 1.0 2.0
- 100 83 15 40 8 10 16 52 2 4 1 5 1 1 12 1 7
N 100.0 83.0 15.0 40.0 8.0 10.0 16.0 52.0 2.0 4.0 1.0 5.0 1.0 1.0 12.0 1.0 7.0
- 100 79 12 39 9 5 17 45 7 14 - 6 1 2 8 1 8
100.0 79.0 12.0 39.0 9.0 5.0 17.0 450 7.0 14.0 - 6.0 1.0 2.0 8.0 1.0 8.0
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100.0 84.0 11.0 30.0 8.0 5.0 11.0 54.0 2.0 17.0 1.0 2.0 - 1.0 11.0 1.0 6.0
=58 100 82 7 33 10 9 13 50 4 10 1 2 1 - 6 - 6
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RIARIS 100.0 19.0 27.0 430 5.0 6.0
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=51 100 12 31 39 10 8
o 100.0 12.0 31.0 39.0 10.0 8.0
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B 100.0 10.0 30.0 470 8.0 5.0
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B 100.0 11.0 42.0 37.0 5.0 5.0
- 100 10 39 33 13 5
™ 100.0 10.0 39.0 33.0 13.0 5.0
= 100 8 34 40 9 9
BT 100.0 8.0 34.0 40.0 9.0 9.0
100 11 35 34 14 6
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IIZR 100.0 11.0 35.0 34.0 14.0 6.0
100 12 38 40 5 5
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100 10 34 39 11 6
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#h|—="T 100.0 7.0 37.0 44.0 7.0 5.0
A e 100 13 33 35 13 6
HHR 100.0 13.0 33.0 35.0 13.0 6.0
- 100 7 32 46 9 6
AR 100.0 7.0 32.0 46.0 9.0 6.0
100 6 31 37 13 13
ABR AT 100.0 6.0 31.0 37.0 13.0 13.0
100 15 29 38 9 9
=]
RER 100.0 15.0 29.0 38.0 9.0 9.0
=pE 100 13 25 36 19 7
IR 100.0 13.0 25.0 36.0 19.0 7.0
100 11 30 46 9 4
T =]
AR 100.0 11.0 30.0 46.0 9.0 4.0
100 8 38 36 13 5
=]
REUR 100.0 8.0 38.0 36.0 13.0 5.0
100 8 40 33 9 10
B
SRR 100.0 8.0 40.0 33.0 9.0 10.0
100 10 34 39 10 7
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R 100.0 10.0 34.0 39.0 10.0 7.0
100 7 39 35 14 5
=]
RER 100.0 7.0 39.0 35.0 14.0 5.0
LOE 100 8 39 38 7 8
™ 100.0 8.0 39.0 38.0 7.0 8.0
P 100 8 39 35 10 8
e 100.0 8.0 39.0 35.0 10.0 8.0
=i 100 6 41 41 8 4
= 100.0 6.0 410 410 8.0 4.0
e 100 13 39 36 8 4
o =]
BRR 100.0 13.0 39.0 36.0 8.0 4.0
=8 100 17 33 40 5 5
IR 100.0 17.0 33.0 40.0 5.0 5.0
_ 100 12 29 36 14 9
= =]
t2RR 100.0 12.0 29.0 36.0 14.0 9.0
100 8 43 34 8 7
FoI=N| =]
EHR 100.0 8.0 43.0 34.0 8.0 7.0
100 10 36 39 6 9
B
RIER 100.0 10.0 36.0 39.0 6.0 9.0
fEA LS 100 11 45 26 14 4
AR 100.0 11.0 450 26.0 14.0 4.0
K438 100 14 33 29 17 7
7 100.0 14.0 33.0 29.0 17.0 7.0
100 8 38 38 8 8
= =]
=R 100.0 8.0 38.0 38.0 8.0 8.0
100 13 42 33 7 5
18 =]
BRESR 100.0 13.0 420 33.0 7.0 5.0
100 13 32 44 7 4
R 100.0 13.0 32.0 44.0 7.0 4.0
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7o 100.0 14.0 37.0 35.0 7.0 7.0
- 100 12 37 34 12 5
B 100.0 12.0 37.0 34.0 12.0 50
i 100 18 34 27 15 6
AR 100.0 18.0 340 27.0 15.0 6.0
100 24 33 30 9 4
B
AR 100.0 240 33.0 30.0 9.0 4.0
100 15 38 35 9 3
=]
BER 100.0 15.0 38.0 35.0 9.0 3.0
100 9 43 4 4 3
- =]
BER 100.0 9.0 430 410 4.0 3.0
— 100 15 41 29 7 8
=]
TR 1000 150 410 290 7.0 8.0
- 100 17 36 28 15 4
R 100.0 17.0 36.0 28.0 15.0 4.0
100 17 40 34 7 2
= B
R IR 100.0 17.0 400 34.0 7.0 2.0
. 100 10 32 47 6 5
N =]
B 100.0 10.0 32.0 470 6.0 50
=11 100 13 42 35 5 5
B 100.0 13.0 420 35.0 5.0 5.0
- 100 11 34 33 18 4
™ 100.0 11.0 34.0 33.0 18.0 4.0
sEtE 100 12 42 30 6 10
mITIR 100.0 12.0 420 30.0 6.0 10.0
100 14 36 36 9 5
FU 1B
IIZR 100.0 14.0 36.0 36.0 9.0 5.0
100 13 42 40 4 1
kA=
RHR 100.0 13.0 420 40.0 4.0 1.0
100 14 35 37 9 5
=]
I5e &2 1% 100.0 14.0 35.0 37.0 9.0 5.0
100 14 38 34 9 5
+% =18
AR R 100.0 14.0 38.0 34.0 9.0 5.0
100 10 40 30 11 9
E =
B BHR 100.0 10.0 40.0 30.0 11.0 9.0
(£ —z8 100 11 32 47 6 4
#h —="T 100.0 11.0 320 470 6.0 4.0
By 100 11 36 38 8 7
HHR 100.0 11.0 36.0 38.0 8.0 7.0
- 100 7 36 44 11 2
AR 100.0 7.0 36.0 440 11.0 2.0
100 7 34 38 10 11
ABR AT 100.0 7.0 34.0 38.0 10.0 11.0
e 100 17 34 33 6 10
and 100.0 17.0 340 33.0 6.0 10.0
=a8 100 13 33 33 16 5
IR 100.0 13.0 33.0 33.0 16.0 5.0
D 100 12 33 39 12 4
AR 100.0 12.0 33.0 39.0 12.0 4.0
100 8 42 31 16 3
=]
SR 100.0 8.0 420 31.0 16.0 30
100 9 45 28 9 9
B
SRR 100.0 9.0 450 28.0 9.0 9.0
100 10 36 34 13 7
- B
R 100.0 10.0 36.0 34.0 13.0 7.0
100 9 36 36 14 5
=]
RER 100.0 9.0 36.0 36.0 14.0 5.0
LOe 100 15 45 28 4 8
™ 100.0 15.0 450 28.0 4.0 8.0
o 100 8 46 32 5 9
IR 100.0 8.0 46.0 32.0 5.0 9.0
=)= 100 6 46 33 11 4
= 100.0 6.0 46.0 33.0 11.0 4.0
e 100 12 43 35 6 4
o =]
BER 100.0 12.0 430 35.0 6.0 4.0
= 4018 100 19 31 40 6 4
RIARIS 100.0 19.0 31.0 400 6.0 4.0
_ 100 10 37 32 13 8
= =]
t2RR 100.0 10.0 37.0 320 13.0 8.0
100 12 46 29 6 7
FoI=N| =]
EHR 100.0 12.0 46.0 29.0 6.0 7.0
100 13 37 37 5 8
B
RIER 100.0 13.0 37.0 37.0 5.0 8.0
fe A 100 12 49 26 8 5
™ 100.0 12.0 490 26.0 8.0 5.0
K431 100 14 33 31 14 8
7 100.0 14.0 33.0 31.0 14.0 8.0
100 8 41 35 10 6
=SB
=R 100.0 8.0 410 35.0 10.0 6.0
100 14 43 33 8 2
18 =]
BRESR 100.0 14.0 430 33.0 8.0 20
100 14 34 42 6 4
R 100.0 14.0 34.0 420 6.0 40




Q32. TLED#HE (FHRBFEMZEL)ITH115, HFRAOFT VAL ARREMEDFRIZBICOVNT, BEELFET

Q32—4. AR (REER) ITHLT. Kb

SIS OLABMEN S M of=

i z «b 5 ) z
= ) ° 5 * >
e 2 z 5 Y 2
») ) & % H
553 3 ) A
5 Ly 51 Ly
Z H
VA VA
Ly LY
& tk 4700 390 896 1869 850 695
100.0 8.3 19.1 39.8 18.1 14.8
e 100 8 14 50 16 12
AtimE 100.0 8.0 14.0 50.0 16.0 12.0
=xg 100 15 16 38 14 17
™ 100.0 15.0 16.0 38.0 14.0 17.0
g 100 7 26 36 18 13
™ 100.0 7.0 26.0 36.0 18.0 13.0
100 6 26 36 17 15
=R 100.0 60| 260 360 17.0 15.0
100 7 20 42 8 23
JU =]
RER 100.0 7.0 20.0 420 8.0 23.0
L2 100 7 20 50 12 11
7o 100.0 7.0 20.0 50.0 12.0 11.0
- 100 8 20 42 17 13
RN 100.0 8.0 20.0 42.0 17.0 13.0
i 100 6 19 34 22 19
AR 100.0 6.0 19.0 34.0 220 19.0
100 15 24 35 14 12
B
AR 100.0 15.0 240 35.0 14.0 12.0
100 9 16 42 16 17
=]
BER 100.0 9.0 16.0 420 16.0 17.0
100 9 17 46 20 8
- =]
BER 100.0 9.0 17.0 46.0 20.0 8.0
— 100 8 25 33 16 18
=]
TR 100.0 80| 250 330 160/ 180
- 100 13 13 34 20 20
R 100.0 13.0 13.0 340 20.0 20.0
100 5 20 46 19 10
= B
R IR 100.0 5.0 20.0 46.0 19.0 10.0
. 100 5 13 53 12 17
N =]
B 100.0 5.0 13.0 53.0 12.0 17.0
=11 100 9 16 44 19 12
B 100.0 9.0 16.0 440 19.0 12.0
- 100 9 17 41 22 11
™ 100.0 9.0 17.0 410 220 11.0
sEtE 100 2 25 39 15 19
mITIR 100.0 2.0 25.0 39.0 15.0 19.0
L5 100 6 22 40 16 16
I 100.0 6.0 22.0 40.0 16.0 16.0
100 12 21 41 16 10
kA=
RHR 100.0 12.0 21.0 410 16.0 10.0
100 7 15 4 23 14
=]
I5e &2 1% 100.0 7.0 15.0 410 23.0 14.0
100 9 17 35 19 20
+% =18
AR R 100.0 9.0 17.0 35.0 19.0 20.0
100 10 16 33 16 25
418
B BHR 100.0 10.0 16.0 33.0 16.0 25.0
(£ —z8 100 4 20 48 19 9
#h|—="T 100.0 4.0 20.0 480 19.0 9.0
A e 100 10 15 39 21 15
HHR 100.0 10.0 15.0 39.0 21.0 15.0
- 100 4 14 48 22 12
AR 100.0 4.0 14.0 480 22.0 12.0
100 5 22 35 19 19
ABR AT 100.0 5.0 220 35.0 19.0 19.0
e 100 13 13 37 21 16
and 100.0 13.0 13.0 37.0 21.0 16.0
=pE 100 7 17 34 20 22
IR 100.0 7.0 17.0 34.0 20.0 220
D 100 6 20 46 14 14
AR 100.0 6.0 20.0 46.0 14.0 14.0
100 5 22 38 20 15
=]
SR 100.0 5.0 220 38.0 20.0 15.0
100 7 21 45 16 11
B
SRR 100.0 7.0 21.0 450 16.0 11.0
100 6 18 43 20 13
- =]
R 100.0 6.0 18.0 43.0 20.0 13.0
100 7 11 46 23 13
=]
RER 100.0 7.0 11.0 46.0 23.0 13.0
LOE 100 6 30 40 9 15
™ 100.0 6.0 30.0 400 9.0 15.0
P 100 3 22 42 18 15
IR 100.0 3.0 220 420 18.0 15.0
=i 100 5 21 51 15 8
100.0 5.0 21.0 51.0 15.0 8.0
e 100 12 24 45 10 9
o =]
BER 100.0 12.0 240 450 10.0 9.0
=i 100 12 21 43 17 7
RIARIS 100.0 12.0 21.0 430 17.0 7.0
_ 100 6 15 35 25 19
= =]
t2RR 100.0 6.0 15.0 35.0 25.0 19.0
100 7 23 34 20 16
FoI=N| =]
EHR 100.0 7.0 23.0 34.0 20.0 16.0
100 9 27 37 13 14
B
RIER 100.0 9.0 27.0 37.0 13.0 14.0
fe A 100 9 28 33 18 12
™ 100.0 9.0 28.0 33.0 18.0 12.0
K431 100 12 18 33 20 17
7 100.0 12.0 18.0 33.0 20.0 17.0
=51 100 8 21 37 21 13
o 100.0 8.0 21.0 37.0 21.0 13.0
100 8 24 48 12 8
18 =]
BRESR 100.0 8.0 240 480 12.0 8.0
100 6 23 50 13 8
R 100.0 6.0 23.0 50.0 13.0 8.0

181



Q32. TLED#HE (FRFMZEL) ICH1TH. HEIOFT VAL ABRREMEDFRIRBICOVT, BEELET

Q32—5. AAELWMEBRLEDH, b YI<hot

7 3 ® g B z
= ) ° 5 * >
8 2 z 5 Y 2
») ) & % H
553 3 ) A
5 Ly 51 Ly
Z H
VA VA
Ly LY
& tk 4700 831 1457 1706 531 175
100.0 17.7 31.0 36.3 11.3 3.7
e 100 17 29 44 8 2
AtimE 100.0 17.0 29.0 440 8.0 2.0
=xg 100 16 32 34 13 5
™ 100.0 16.0 32.0 34.0 13.0 5.0
wxm 100 17 24 37 17 5
B 100.0 17.0 240 37.0 17.0 5.0
100 21 32 37 7 3
=R 1000 210/ 320 370 7.0 3.0
100 26 25 32 15 2
JU =]
RER 100.0 26.0 25.0 320 15.0 2.0
L 100 10 26 47 13 4
7o 100.0 10.0 26.0 470 13.0 4.0
- 100 24 27 38 11 -
= 100.0 240 27.0 38.0 11.0 -
i 100 23 22 35 13 7
AR 100.0 23.0 220 35.0 13.0 7.0
100 13 31 35 16 5
B
AR 100.0 13.0 310 35.0 16.0 5.0
100 20 33 30 9 8
=]
BER 100.0 20.0 33.0 30.0 9.0 8.0
100 16 40 35 7 2
- =]
BER 100.0 16.0 400 35.0 7.0 2.0
— 100 21 25 38 13 3
=]
TR 1000 210 250 380 130 3.0
- 100 28 34 25 8 5
R 100.0 28.0 340 250 8.0 50
100 11 31 42 13 3
= B
R IR 100.0 11.0 31.0 420 13.0 3.0
. 100 16 25 51 6 2
N =]
B 100.0 16.0 25.0 51.0 6.0 20
=11 100 13 20 51 10 6
B 100.0 13.0 20.0 51.0 10.0 6.0
- 100 23 36 24 12 5
™ 100.0 23.0 36.0 240 12.0 5.0
sEtE 100 26 29 35 9 1
mITIR 100.0 26.0 29.0 35.0 9.0 1.0
100 15 34 37 10 4
FU 1B
IIZR 100.0 15.0 34.0 37.0 10.0 4.0
100 17 25 46 9 3
kA=
RHE 100.0 17.0 25.0 46.0 9.0 3.0
100 17 31 37 11 4
=]
I5e &2 1% 100.0 17.0 31.0 37.0 11.0 4.0
100 17 27 43 10 3
+% =18
AR R 100.0 17.0 27.0 430 10.0 3.0
100 23 32 25 13 7
418
B BHR 100.0 23.0 320 25.0 13.0 7.0
(£ —z8 100 14 26 47 12 1
#h —="T 100.0 14.0 26.0 47.0 12.0 1.0
By 100 19 28 38 10 5
HHR 100.0 19.0 28.0 38.0 10.0 5.0
- 100 22 26 40 11 1
AR 100.0 220 26.0 400 11.0 1.0
100 19 37 31 11 2
ABR AT 100.0 19.0 37.0 31.0 11.0 2.0
e 100 25 30 34 6 5
and 100.0 250 30.0 340 6.0 50
=pE 100 26 28 31 9 6
IR 100.0 26.0 28.0 31.0 9.0 6.0
100 17 31 43 7 2
T =]
AR 100.0 17.0 310 430 7.0 2.0
100 17 36 38 6 3
=]
SR 100.0 17.0 36.0 38.0 6.0 3.0
100 15 16 43 17 9
B
SRR 100.0 15.0 16.0 430 17.0 9.0
100 16 34 39 8 3
- B
R 100.0 16.0 34.0 39.0 8.0 3.0
100 18 33 36 10 3
=]
RER 100.0 18.0 33.0 36.0 10.0 3.0
LOe 100 10 28 40 15 7
™ 100.0 10.0 28.0 400 15.0 7.0
o 100 20 25 43 9 3
IR 100.0 20.0 25.0 430 9.0 3.0
=i 100 8 29 47 15 1
= 100.0 8.0 29.0 470 15.0 1.0
e 100 19 29 42 6 4
o =]
BER 100.0 19.0 29.0 420 6.0 4.0
= 4018 100 15 28 44 8 5
RIARIS 100.0 15.0 28.0 440 8.0 5.0
_ 100 16 30 39 10 5
= =]
t2RR 100.0 16.0 300 39.0 10.0 5.0
100 20 27 40 7 6
FoI=N| =]
EHR 100.0 20.0 27.0 400 7.0 6.0
100 17 19 47 9 8
B
RIER 100.0 17.0 19.0 470 9.0 8.0
fe A 100 13 32 36 13 6
™ 100.0 13.0 320 36.0 13.0 6.0
K431 100 22 31 35 7 5
7 100.0 220 31.0 35.0 7.0 50
i 8 100 18 29 36 13 4
o 100.0 18.0 29.0 36.0 13.0 4.0
100 13 22 44 16 5
18 =]
BRESR 100.0 13.0 220 44.0 16.0 50
100 13 27 50 10 -
R 100.0 13.0 27.0 50.0 10.0 -
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Q32. TLED#HE (FRFMZEL) ICH1TD. HRIOFT VAL ABRREMEDHFRIRBICOVT, BEELET

Q32-6. FREWDSLIGRBORIANE M of

7 3 «b g B z
= ) ° 5 * >
8 2 z 5 Y 2
») ) & % H
553 3 ) A
5 Ly 51 Ly
Z H
VA VA
Ly LY
& tk 4700 1092 1405 1543 430 230
100.0 23.2 29.9 328 9.2 4.9
e 100 28 27 35 5 5
AtimE 100.0 28.0 27.0 35.0 5.0 5.0
=xg 100 24 26 34 13 3
™ 100.0 240 26.0 34.0 13.0 3.0
g 100 18 27 38 12 5
™ 100.0 18.0 27.0 38.0 12.0 5.0
100 23 29 35 7 6
.—-—-i =]
=R 1000 230/ 290 350 7.0 6.0
100 27 26 35 9 3
JU =]
RER 100.0 27.0 26.0 35.0 9.0 3.0
L8 100 16 24 45 11 4
7o 100.0 16.0 240 450 11.0 4.0
EaE 100 29 30 34 3 4
B 100.0 29.0 30.0 34.0 3.0 4.0
i 100 26 20 33 13 8
AR 100.0 26.0 20.0 33.0 13.0 8.0
100 25 29 29 14 3
B
AR 100.0 25.0 29.0 29.0 14.0 3.0
100 30 30 24 11 5
=]
BER 100.0 30.0 30.0 240 11.0 50
100 21 33 33 7 6
- =]
BER 100.0 21.0 33.0 33.0 7.0 6.0
— 100 24 28 36 10 2
=]
TR 1000 240/ 280 360 100 2.0
- 100 34 25 26 8 7
R 100.0 340 25.0 26.0 8.0 7.0
100 18 36 32 11 3
= B
R IR 100.0 18.0 36.0 320 11.0 3.0
. 100 22 24 43 8 3
N =]
AiRR 100.0 220 240 430 8.0 3.0
=11 100 26 26 35 8 5
B 100.0 26.0 26.0 35.0 8.0 5.0
- 100 29 31 23 13 4
™ 100.0 29.0 31.0 230 13.0 4.0
sEtE 100 25 29 30 12 4
mITIR 100.0 25.0 29.0 30.0 12.0 4.0
L5 100 23 27 34 10 6
I 100.0 23.0 27.0 34.0 10.0 6.0
100 20 30 40 6 4
kA=
RHR 100.0 20.0 30.0 40.0 6.0 4.0
100 24 22 37 11 6
=]
I5e &2 1% 100.0 240 220 37.0 11.0 6.0
100 27 32 31 6 4
+% =18
AR R 100.0 27.0 320 310 6.0 4.0
100 33 33 23 6 5
418
B BHR 100.0 33.0 33.0 23.0 6.0 5.0
(£ —z8 100 17 33 40 7 3
#h —="T 100.0 17.0 33.0 400 7.0 3.0
By 100 24 30 33 8 5
HHR 100.0 240 30.0 33.0 8.0 5.0
- 100 25 30 32 11 2
AR 100.0 250 30.0 32.0 11.0 2.0
100 19 37 33 7 4
ABR AT 100.0 19.0 37.0 33.0 7.0 4.0
e 100 28 30 28 8 6
and 100.0 28.0 30.0 28.0 8.0 6.0
=pE 100 36 22 33 3 6
IR 100.0 36.0 22.0 33.0 3.0 6.0
D 100 22 37 34 4 3
AR 100.0 220 37.0 34.0 4.0 3.0
100 23 29 39 6 3
=]
SR 100.0 23.0 29.0 39.0 6.0 3.0
100 16 20 41 15 8
B
SRR 100.0 16.0 20.0 410 15.0 8.0
100 22 25 44 6 3
- B
R 100.0 220 25.0 440 6.0 3.0
100 27 21 43 5 4
=]
RER 100.0 27.0 21.0 430 5.0 4.0
LOe 100 15 27 35 12 11
™ 100.0 15.0 27.0 35.0 12.0 11.0
o 100 22 27 40 8 3
IR 100.0 220 27.0 400 8.0 3.0
=i 100 9 27 43 18 3
= 100.0 9.0 27.0 430 18.0 3.0
o 100 23 29 35 9 4
o =]
BRR 100.0 23.0 29.0 35.0 9.0 4.0
= 4018 100 21 24 40 9 6
RIARIS 100.0 21.0 240 400 9.0 6.0
_ 100 20 35 32 7 6
= =]
t2RR 100.0 20.0 35.0 320 7.0 6.0
100 20 32 33 6 9
FoI=N| =]
EHR 100.0 20.0 32.0 33.0 6.0 9.0
100 23 19 36 13 9
B
RIER 100.0 230 19.0 36.0 13.0 9.0
fe A 100 21 36 22 15 6
™ 100.0 21.0 36.0 220 15.0 6.0
K431 100 31 27 32 6 4
7 100.0 31.0 27.0 32.0 6.0 40
=51 100 24 27 36 9 4
o 100.0 240 27.0 36.0 9.0 4.0
100 15 27 43 13 2
18 =]
BRESR 100.0 15.0 27.0 43.0 13.0 20
100 24 23 43 8 2
R 100.0 240 23.0 430 8.0 2.0




Q33. LTDATATIZDONT, COTEBEE., 1BEHEDSVLFALELED

Q33—1. FLE

HE 8 5 4 3 2 x1 *x 1 3 3 ES

' B i3 is3 i3 is3 it B s 0] 0 e)

%& FE FEI FEl FEl FEl Fﬁﬁ FEI ﬁj\ ﬁj\ T:

L M LA 2L 2 3 L L x <

t L L xt i 0] L t pr] F

8 5 4 3 v 1 1 =2

i fE f& i i i il A

x x x x 2 3 * h

i it i it s 0 i 2

fiE V2 1=
& 1k 4700 652 419 511 614 759 425 398 344 326 253
100.0 13.9 8.9 10.9 13.1 16.1 9.0 8.5 7.3 6.9 5.4
s > 100 15 12 11 11 17 12 6 4 6 6
AtimE 100.0 15.0 12.0 11.0 11.0 17.0 12.0 6.0 40 6.0 6.0
=X 100 15 11 5 12 14 14 11 7 6 5
100.0 15.0 11.0 5.0 12.0 14.0 14.0 11.0 7.0 6.0 5.0
PO g 100 14 5 7 18 21 10 6 8 4 7
- 100.0 14.0 5.0 7.0 18.0 21.0 10.0 6.0 8.0 4.0 7.0
=i 18 100 9 11 8 16 16 8 9 8 7 8
- 100.0 9.0 11.0 8.0 16.0 16.0 8.0 9.0 8.0 7.0 8.0
FNEE 100 14 17 5 10 19 12 7 7 6 3
= 100.0 14.0 17.0 5.0 10.0 19.0 12.0 7.0 7.0 6.0 3.0
A 100 11 12 7 13 19 16 4 7 5 6
- 100.0 11.0 12.0 7.0 13.0 19.0 16.0 4.0 7.0 5.0 6.0
=eE 100 11 17 10 14 13 9 10 3 6 7
- 100.0 11.0 17.0 10.0 14.0 13.0 9.0 10.0 3.0 6.0 7.0
i 18 100 15 7 14 9 14 7 11 7 6 10
- 100.0 15.0 7.0 14.0 9.0 14.0 7.0 11.0 7.0 6.0 10.0
A B 100 16 8 12 13 11 8 11 7 6 8
-~ 100.0 16.0 8.0 12.0 13.0 11.0 8.0 11.0 7.0 6.0 8.0
BEE 100 15 5 11 12 18 6 10 11 6 6
R 100.0 15.0 5.0 11.0 12.0 18.0 6.0 10.0 11.0 6.0 6.0
g 100 20 9 14 14 13 7 8 4 6 5
BER 100.0 20.0 9.0 14.0 14.0 13.0 7.0 8.0 4.0 6.0 5.0
T 100 18 7 14 8 18 5 7 6 9 8
T=R 100.0 18.0 7.0 14.0 8.0 18.0 5.0 7.0 6.0 9.0 8.0
- 100 15 7 9 13 17 7 7 9 11 5
e 100.0 15.0 7.0 9.0 13.0 17.0 7.0 7.0 9.0 11.0 5.0
hzs || 1B 100 15 3 15 7 20 8 10 9 7 6
e 100.0 15.0 3.0 15.0 7.0 20.0 8.0 10.0 9.0 7.0 6.0
%88 100 12 15 9 14 13 7 10 11 6 3
- 100.0 12.0 15.0 9.0 14.0 13.0 7.0 10.0 11.0 6.0 3.0
=11 100 14 9 7 10 15 8 10 9 9 9
R 100.0 14.0 9.0 7.0 10.0 15.0 8.0 10.0 9.0 9.0 9.0
5e 100 10 7 8 9 22 9 7 11 8 9
- 100.0 10.0 7.0 8.0 9.0 22.0 9.0 7.0 11.0 8.0 9.0
PRI 100 13 8 5 10 19 12 14 5 9 5
- 100.0 13.0 8.0 5.0 10.0 19.0 12.0 14.0 5.0 9.0 5.0
MEN 100 10 9 6 16 18 9 11 10 5 6
- 100.0 10.0 9.0 6.0 16.0 18.0 9.0 11.0 10.0 5.0 6.0
EFRE 100 8 3 7 13 13 14 15 13 7 7
- 100.0 8.0 3.0 7.0 13.0 13.0 14.0 15.0 13.0 7.0 7.0
I B 18 100 10 13 10 10 17 7 9 13 7 4
- 100.0 10.0 13.0 10.0 10.0 17.0 7.0 9.0 13.0 7.0 4.0
£ 18 100 13 6 15 11 15 10 11 9 5 5
100.0 13.0 6.0 15.0 11.0 15.0 10.0 11.0 9.0 5.0 5.0
P58 100 14 6 9 12 12 9 7 10 15 6
)75 - 100.0 14.0 6.0 9.0 12.0 12.0 9.0 7.0 10.0 15.0 6.0
E3 =z 100 19 11 5 14 14 12 13 3 6 3
#o|—=T 100.0 19.0 11.0 5.0 14.0 14.0 12.0 13.0 3.0 6.0 3.0
Al S AA] 100 11 10 8 16 13 6 11 10 7 8
R 100.0 11.0 10.0 8.0 16.0 13.0 6.0 11.0 10.0 7.0 8.0
— 100 12 9 9 5 16 8 8 14 10 9
AR 100.0 12.0 9.0 9.0 5.0 16.0 8.0 8.0 14.0 10.0 9.0
100 12 9 3 17 20 10 8 10 6 5
BRI 100.0 12.0 9.0 3.0 17.0 20.0 10.0 8.0 10.0 6.0 5.0
EE 100 7 6 7 20 16 13 10 7 11 3
R 100.0 7.0 6.0 7.0 20.0 16.0 13.0 10.0 7.0 11.0 3.0
ZaE 100 12 7 7 14 15 5 14 12 5 9
IR 100.0 12.0 7.0 7.0 14.0 15.0 5.0 14.0 12.0 5.0 9.0
I 100 8 11 10 15 15 13 11 7 5 5
- 100.0 8.0 11.0 10.0 15.0 15.0 13.0 11.0 7.0 5.0 5.0
£ fy 18 100 17 9 6 11 15 14 11 5 6 6
mmnes 100.0 17.0 9.0 6.0 11.0 15.0 14.0 11.0 5.0 6.0 6.0
EiEE 100 9 14 10 11 18 12 11 7 6 2
- 100.0 9.0 14.0 10.0 11.0 18.0 12.0 11.0 7.0 6.0 2.0
1L 100 6 4 13 12 15 13 13 9 8 7
-~ 100.0 6.0 40 13.0 12.0 15.0 13.0 13.0 9.0 8.0 7.0
EEE 100 10 1 13 14 20 4 8 8 7 5
- 100.0 10.0 11.0 13.0 14.0 20.0 4.0 8.0 8.0 7.0 50
sl 100 12 3 8 13 17 10 11 9 9 8
- 100.0 12.0 3.0 8.0 13.0 17.0 10.0 11.0 9.0 9.0 8.0
e 100 12 13 9 14 13 11 7 10 6 5
eI 100.0 12.0 13.0 9.0 14.0 13.0 11.0 7.0 10.0 6.0 5.0
e 100 7 9 6 15 17 8 12 9 9 8
- 100.0 7.0 9.0 6.0 15.0 17.0 8.0 12.0 9.0 9.0 8.0
BE R 100 18 5 12 16 6 10 11 8 10 4
- 100.0 18.0 5.0 12.0 16.0 6.0 10.0 11.0 8.0 10.0 40
=58 100 16 7 10 11 17 9 1 8 4 7
AT 100.0 16.0 7.0 10.0 11.0 17.0 9.0 11.0 8.0 40 7.0
1= 100 17 10 7 8 10 12 14 7 7 8
- 100.0 17.0 10.0 7.0 8.0 10.0 12.0 14.0 7.0 7.0 8.0
e 100 13 12 6 11 17 10 9 12 4 6
- 100.0 13.0 12.0 6.0 11.0 17.0 10.0 9.0 12.0 40 6.0
Ei5E 100 12 10 12 16 14 12 5 11 3 5
- 100.0 12.0 10.0 12.0 16.0 14.0 12.0 5.0 11.0 3.0 5.0
eI 100 10 12 11 14 15 13 6 7 8 4
- 100.0 10.0 12.0 11.0 14.0 15.0 13.0 6.0 7.0 8.0 4.0
K418 100 13 12 12 7 18 12 8 7 4 7
- 100.0 13.0 12.0 12.0 7.0 18.0 12.0 8.0 7.0 40 7.0
=5 18 100 8 9 8 15 13 13 8 11 4 11
- 100.0 8.0 9.0 8.0 15.0 13.0 13.0 8.0 11.0 40 11.0
RS 100 10 10 10 13 13 11 13 8 4 8
FEIL SR 100.0 10.0 10.0 10.0 13.0 13.0 11.0 13.0 8.0 40 8.0
hig e 100 15 8 5 15 13 9 11 6 8 10
o 100.0 15.0 8.0 5.0 15.0 13.0 9.0 11.0 6.0 8.0 10.0
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Q33—2. STF

HE 8 5 4 3 2 *x *x 1 3 3 ES

' isd B is3 B is3 i B i BF 0 0 )

M f& M fi fis f fil & 7 o 1=

KA KA KL KA A 3 KA L x <

E t E t E 0] t t P F

8 5 4 3 VN 1 1 A

i fE f& i i i il LAY

x x x x 2 3 * h

] i ] i is3 0 b 2

i 7 1=
& 1k 4700 95 56 53 64 121 130 151 240 603 3188
100.0 2.0 1.2 1.1 1.4 2.6 2.8 3.2 5.1 12.8 67.8
s > 100 1 2 4 1 3 4 3 3 15 64
AtimE 100.0 1.0 2.0 4.0 1.0 3.0 40 3.0 3.0 15.0 64.0
=X 100 - - - - 3 4 5 4 11 73
100.0 - - - - 3.0 40 5.0 40 11.0 73.0
PO g 100 2 3 - 4 5 - 5 3 16 62
- 100.0 2.0 3.0 - 4.0 5.0 - 5.0 3.0 16.0 62.0
=i 18 100 2 1 2 2 2 4 3 5 18 61
-~ 100.0 2.0 1.0 2.0 2.0 2.0 40 3.0 5.0 18.0 61.0
FNEE 100 3 4 2 4 1 1 3 6 11 65
= 100.0 3.0 40 2.0 40 1.0 1.0 3.0 6.0 11.0 65.0
A 100 1 4 - 1 3 3 3 12 10 63
- 100.0 1.0 4.0 - 1.0 3.0 3.0 3.0 12.0 10.0 63.0
e 100 3 - 2 1 1 5 6 7 14 61
- 100.0 3.0 - 2.0 1.0 1.0 5.0 6.0 7.0 14.0 61.0
i 18 100 2 1 - 1 - 2 4 6 18 66
- 100.0 2.0 1.0 - 1.0 - 20 40 6.0 18.0 66.0
A B 100 - 2 2 1 - 7 6 4 13 65
- 100.0 - 2.0 2.0 1.0 - 7.0 6.0 40 13.0 65.0
g 100 1 2 1 - 2 - 2 11 13 68
BER 100.0 1.0 2.0 1.0 - 2.0 - 2.0 11.0 13.0 68.0
g 100 3 3 2 2 4 5 4 3 11 63
BER 100.0 3.0 3.0 2.0 20 4.0 5.0 4.0 3.0 11.0 63.0
- 100 1 - 4 1 2 7 1 4 18 62
TR 100.0 1.0 - 40 1.0 2.0 7.0 1.0 40 18.0 62.0
- 100 3 - 1 3 1 1 2 1 10 78
R 100.0 3.0 - 1.0 3.0 1.0 1.0 2.0 1.0 10.0 78.0
hzs || 1B 100 3 3 - 1 4 1 1 5 10 72
e 100.0 3.0 3.0 - 1.0 4.0 1.0 1.0 5.0 10.0 72.0
%88 100 2 2 1 1 3 1 5 8 18 59
- 100.0 2.0 20 1.0 1.0 3.0 1.0 5.0 8.0 18.0 59.0
=11 100 - 2 2 3 i 4 3 9 13 63
R 100.0 - 2.0 20 3.0 1.0 40 3.0 9.0 13.0 63.0
5e 100 1 1 3 - 3 1 4 5 14 68
- 100.0 1.0 1.0 3.0 - 3.0 1.0 40 5.0 14.0 68.0
PRI 100 2 - 1 1 2 1 2 8 16 67
- 100.0 2.0 - 1.0 1.0 20 1.0 2.0 8.0 16.0 67.0
MEN 100 1 1 3 4 3 2 2 9 20 55
- 100.0 1.0 1.0 3.0 4.0 3.0 2.0 2.0 9.0 20.0 55.0
EFHE 100 4 1 1 2 4 3 3 6 10 66
- 100.0 4.0 1.0 1.0 2.0 40 3.0 3.0 6.0 10.0 66.0
I B 18 100 1 2 1 1 2 4 6 4 12 67
- 100.0 1.0 20 1.0 1.0 20 4.0 6.0 40 12.0 67.0
£ g 100 3 - - 2 2 2 5 5 15 66
PRI % 100.0 3.0 - - 2.0 2.0 2.0 5.0 5.0 15.0 66.0
=hn1E 100 3 - - 1 - - 6 8 11 71
)75 BHR 100.0 3.0 - - 1.0 - - 6.0 8.0 11.0 71.0
[ — 100 2 - i 4 4 - 1 9 18 61
#ho|T=T 100.0 2.0 - 1.0 4.0 40 - 1.0 9.0 18.0 61.0
TR 100 - i - i 4 3 6 7 6 72
R 100.0 - 1.0 - 1.0 40 3.0 6.0 7.0 6.0 72.0
— 100 1 3 1 - 4 3 2 8 11 67
AR 100.0 1.0 3.0 1.0 - 4.0 3.0 2.0 8.0 11.0 67.0
100 2 2 - 1 2 4 3 5 11 70
ABR AT 100.0 2.0 2.0 - 1.0 2.0 4.0 3.0 5.0 11.0 70.0
EE 100 5 - 1 1 3 1 4 1 7 77
oY 100.0 5.0 - 1.0 1.0 3.0 1.0 4.0 1.0 7.0 77.0
=am 100 - 3 - i 4 - 2 9 8 73
IR 100.0 - 3.0 - 1.0 4.0 - 2.0 9.0 8.0 73.0
I 100 2 1 1 - 3 4 3 3 10 73
- 100.0 2.0 1.0 1.0 - 3.0 40 3.0 3.0 10.0 73.0
£ fy 18 100 1 1 1 2 2 3 4 10 10 66
mmnes 100.0 1.0 1.0 1.0 2.0 2.0 3.0 4.0 10.0 10.0 66.0
EiEE 100 - - 2 - 2 3 2 3 19 69
- 100.0 - - 2.0 - 2.0 3.0 2.0 3.0 19.0 69.0
- g 100 - - 1 1 4 1 2 3 18 70
LR 100.0 - - 1.0 1.0 40 1.0 20 3.0 18.0 70.0
g 100 2 2 1 - 2 3 3 1 15 71
EER 100.0 2.0 2.0 1.0 - 2.0 3.0 3.0 1.0 15.0 71.0
sl 100 1 1 1 - - 3 1 6 15 72
- 100.0 1.0 1.0 1.0 - - 3.0 1.0 6.0 15.0 72.0
e 100 1 4 - 1 3 4 4 4 10 69
eI 100.0 1.0 4.0 - 1.0 3.0 4.0 40 40 10.0 69.0
e 100 - 3 - 3 4 4 1 5 11 69
- 100.0 - 3.0 - 3.0 4.0 40 1.0 5.0 11.0 69.0
BE S 100 4 2 1 1 - 1 1 9 8 73
- 100.0 4.0 2.0 1.0 1.0 - 1.0 1.0 9.0 8.0 73.0
=58 100 2 1 1 1 1 3 - 6 6 79
AT 100.0 2.0 1.0 1.0 1.0 1.0 3.0 - 6.0 6.0 79.0
= e 100 5 - - 2 3 3 4 4 13 66
- 100.0 5.0 - - 2.0 3.0 3.0 40 40 13.0 66.0
e 100 1 1 - 1 1 1 2 6 15 72
- 100.0 1.0 1.0 - 1.0 1.0 1.0 2.0 6.0 15.0 72.0
Ei5E 100 4 1 1 1 - 5 3 4 14 67
- 100.0 4.0 1.0 1.0 1.0 - 5.0 3.0 4.0 14.0 67.0
eI 100 - 2 1 - 2 1 7 4 9 74
- 100.0 - 2.0 1.0 - 2.0 1.0 7.0 40 9.0 74.0
K418 100 2 - - 1 2 2 6 4 12 71
- 100.0 2.0 - - 1.0 2.0 20 6.0 4.0 12.0 71.0
=5 18 100 2 1 1 1 2 4 3 12 8 66
-~ 100.0 2.0 1.0 1.0 1.0 2.0 4.0 3.0 12.0 8.0 66.0
g 100 1 2 1 2 3 2 4 9 13 63
BRER 100.0 1.0 2.0 1.0 2.0 3.0 2.0 4.0 9.0 13.0 63.0
100 2 2 1 2 3 5 3 3 16 63
R 100.0 2.0 2.0 1.0 2.0 3.0 5.0 3.0 3.0 16.0 63.0
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Q33—3. ¥

B 8 5 4 3 2 * * 1 3 3 x

= i3 ic3 iE3 iE3 i3 R R 0 0 e

ﬁ FB FEI FEI FEI FEI FEﬁ FEﬁ ﬁj\ ﬁj\ 7(-:
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+ + + + + 0 + i po #

8 5 4 3 o) 1 1 H

f& 5 f& fa + f& i VA

* * * PS 2 3 FS )

oo b oo b i3 0 i e

f& n 1=
& 1k 4700 54 27 34 41 75 161 213 566 1123 2406
100.0 1.1 0.6 0.7 0.9 1.6 3.4 45 12.0 23.9 51.2
s 100 - - 2 1 3 3 2 17 21 51
AL 100.0 - - 2.0 1.0 3.0 3.0 2.0 17.0 21.0 51.0
_— 100 1 - - 2 1 4 6 13 35 38
100.0 1.0 - - 2.0 1.0 4.0 6.0 13.0 35.0 38.0
e 100 - - 2 2 2 - 3 18 22 51
" 100.0 - ~ 2.0 2.0 2.0 - 3.0 18.0 22.0 51.0
S 100 2 1 1 - 1 3 3 16 24 49
™ 100.0 2.0 1.0 1.0 - 1.0 3.0 3.0 16.0 24.0 49.0
X 100 - 5 - 1 2 4 10 12 31 35
“ 100.0 - 5.0 - 1.0 2.0 40 10.0 12.0 31.0 35.0
LI 100 1 1 - - - 1 6 12 28 51
" 100.0 1.0 1.0 - - - 1.0 6.0 12.0 28.0 51.0
- 100 3 - 1 1 1 2 7 11 25 49
™ 100.0 3.0 - 1.0 1.0 1.0 2.0 7.0 11.0 25.0 49.0
i 100 1 - 1 - 2 4 3 10 19 60
™ 100.0 1.0 - 1.0 - 2.0 40 3.0 10.0 19.0 60.0
= 100 - - - 2 - 4 7 6 14 67
AR 100.0 - - - 2.0 - 4.0 7.0 6.0 14.0 67.0
= 100 1 - 1 2 1 3 5 10 26 51
RER 100.0 1.0 - 1.0 2.0 1.0 3.0 5.0 10.0 26.0 51.0
= 100 1 4 2 - 1 3 3 11 20 55
BER 100.0 1.0 4.0 2.0 - 1.0 3.0 3.0 11.0 20.0 55.0
- 100 2 1 1 - 2 5 5 11 21 52
T=R 100.0 2.0 1.0 1.0 - 2.0 5.0 5.0 11.0 21.0 52.0
- 100 3 - - 1 3 2 2 9 19 61
e 100.0 3.0 - - 1.0 3.0 2.0 2.0 9.0 19.0 61.0
S 100 3 1 2 2 1 3 3 1 14 60
ST 100.0 3.0 1.0 2.0 2.0 1.0 3.0 3.0 11.0 14.0 60.0
e 100 1 1 3 - 2 8 5 6 27 47
™ 100.0 1.0 1.0 3.0 - 2.0 8.0 5.0 6.0 27.0 47.0
=18 100 1 1 2 1 1 6 8 11 28 41
= 100.0 1.0 1.0 2.0 1.0 1.0 6.0 8.0 11.0 28.0 410
e 100 2 1 1 1 1 1 3 13 31 46
™ 100.0 2.0 1.0 1.0 1.0 1.0 1.0 3.0 13.0 31.0 46.0
papps 100 2 - 1 1 - 3 5 12 36 40
™ 100.0 2.0 - 1.0 1.0 - 3.0 5.0 12.0 36.0 40.0
LS 100 - - - 1 2 4 6 9 35 43
~ 100.0 - - - 1.0 2.0 4.0 6.0 9.0 35.0 43.0
EmE 100 1 1 1 1 2 5 4 10 27 48
™ 100.0 1.0 1.0 1.0 1.0 2.0 5.0 4.0 10.0 27.0 48.0
I 100 1 - 1 - 2 2 6 9 25 54
“ 100.0 1.0 - 1.0 - 2.0 2.0 6.0 9.0 25.0 54.0
o1 100 3 - - - 2 2 2 11 24 56
AR R 100.0 3.0 - - - 2.0 2.0 2.0 11.0 24.0 56.0
2k 1 100 - 1 - - - 1 5 14 27 52
B EHR 100.0 - 1.0 - - - 1.0 5.0 14.0 27.0 52.0
E3 =z 100 - - 1 1 3 5 2 5 22 61
#h —=T 100.0 - - 1.0 1.0 3.0 5.0 2.0 5.0 22.0 61.0
A o, —_— 100 - - 1 2 4 2 1 13 25 52
R 100.0 - - 1.0 2.0 4.0 2.0 1.0 13.0 25.0 52.0
- 100 1 - 1 1 1 1 5 12 24 54
SRR 100.0 1.0 - 1.0 1.0 1.0 1.0 5.0 12.0 24.0 54.0
100 - - - 2 2 2 3 10 18 63
BRI 100.0 - - - 2.0 2.0 2.0 3.0 10.0 18.0 63.0
8 100 3 - - 2 3 3 4 9 19 57
Rt 100.0 3.0 - - 2.0 3.0 3.0 4.0 9.0 19.0 57.0
=aE 100 - - - - - 4 4 14 21 57
IR 100.0 - - ~ - - 40 4.0 14.0 21.0 57.0
AT L1 100 2 - 2 - 1 5 4 9 17 60
T 100.0 2.0 - 2.0 - 1.0 5.0 4.0 9.0 17.0 60.0
- 100 2 1 - 2 1 3 8 13 28 42
AR 100.0 2.0 1.0 - 2.0 1.0 3.0 8.0 13.0 28.0 42.0
. 100 - 1 1 - 3 1 6 17 33 38
™ 100.0 - 1.0 1.0 - 3.0 1.0 6.0 17.0 33.0 38.0
e 100 - - 1 - 1 1 4 13 28 52
LI 100.0 - - 1.0 - 1.0 1.0 4.0 13.0 28.0 52.0
= 100 1 - 1 1 1 1 10 6 26 53
BER 100.0 1.0 - 1.0 1.0 1.0 1.0 10.0 6.0 26.0 53.0
LOE 100 - - - - 1 1 4 4 32 58
™ 100.0 - - - - 1.0 1.0 4.0 4.0 32.0 58.0
e 100 1 - 2 1 1 2 5 12 40 36
e 100.0 1.0 - 2.0 1.0 1.0 2.0 5.0 12.0 40.0 36.0
%8 100 - - 1 3 2 4 7 10 34 39
" 100.0 - - 1.0 3.0 2.0 4.0 7.0 10.0 34.0 39.0
BIEIE 100 2 2 1 - - 2 8 7 25 53
™ 100.0 2.0 2.0 1.0 - - 2.0 8.0 7.0 25.0 53.0
=418 100 2 1 1 1 2 3 5 9 21 55
SRR 100.0 2.0 1.0 1.0 1.0 2.0 3.0 5.0 9.0 21.0 55.0
i 100 2 - - - - 2 3 3 18 72
s 100.0 2.0 - - - - 2.0 3.0 3.0 18.0 72.0
208 100 - - - - - 2 1 11 33 53
ERR 100.0 - - - - - 2.0 1.0 11.0 33.0 53.0
. 100 2 - 1 1 - 2 2 12 19 61
" 100.0 2.0 - 1.0 1.0 - 2.0 2.0 12.0 19.0 61.0
P 100 - - - 2 - 3 9 10 18 58
™ 100.0 - - - 2.0 - 3.0 9.0 10.0 18.0 58.0
K48 100 1 1 - 4 - 3 2 11 27 51
“ 100.0 1.0 1.0 ~ 4.0 ~ 3.0 2.0 11.0 27.0 51.0
=512 100 - - 1 1 2 5 5 9 18 59
™ 100.0 - - 1.0 1.0 2.0 5.0 5.0 9.0 18.0 59.0
a 100 - - - 3 4 5 2 12 24 50
BRESR 100.0 - - - 3.0 4.0 5.0 2.0 12.0 240 50.0
100 1 1 1 2 - 4 5 6 27 53
AR 100.0 1.0 1.0 1.0 2.0 — 4.0 5.0 6.0 27.0 53.0
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8 5 4 3 o) 1 1 F
i i i i3 LA i ie3 L
f& 5 f& 5 + fe] i PAY
*x * *x *x 2 3 * h
i b i i e 0 bt 2
e n 1=
o 1% 4700 33 10 21 17 46 50 61 147 429] 3886
100.0 0.7 0.2 0.4 0.4 1.0 1.1 1.3 31 9.1 82.7
— 100 - - - - 3 2 1 3 9 82
AtimE 100.0 - - - - 3.0 20 1.0 30 9.0 82.0
=1 100 - - 1 - 1 3 3 1 9 82
™ 100.0 - - 1.0 - 1.0 3.0 30 1.0 9.0 82.0
nr e 100 - - - 1 3 1 2 3 8 82
B 100.0 - - - 1.0 30 1.0 20 30 8.0 82.0
100 1 - 1 - 1 - 1 3 11 82
.—-—-i =
=R 100.0 1.0 - 1.0 - 1.0 - 1.0 30 11.0 82.0
100 - 1 2 - - 1 3 5 12 76
JU =]
RER 100.0 - 1.0 20 - - 10 30 50 12.0 76.0
L 100 - - - - 2 - 1 3 13 81
7 100.0 - - - - 20 - 1.0 30 13.0 81.0
- 100 1 1 - - 1 - 3 3 8 83
S 100.0 1.0 1.0 - - 1.0 - 3.0 30 8.0 83.0
. 100 1 - - 1 - 1 - 5 4 88
= =]
TR 100.0 10 - - 1.0 - 10 - 50 40 88.0
100 - - - - 1 1 5 1 8 84
B
AR 100.0 - - - - 1.0 1.0 50 1.0 8.0 84.0
100 2 - 2 1 - - 1 2 12 80
=]
BER 100.0 20 - 20 1.0 - - 1.0 20 12.0 80.0
100 - - 1 1 1 2 3 4 12 76
- =]
BER 100.0 - - 10 1.0 1.0 20 30 40 12.0 76.0
. 100 - 2 - - - 1 2 5 8 82
=]
TR 100.0 - 2.0 - - - 10 2.0 5.0 80 820
. 100 3 - - 1 1 2 - 5 12 76
R 100.0 30 - - 1.0 10 20 - 50 12.0 76.0
100 3 - 1 1 2 1 2 2 9 79
= B
R IR 100.0 30 - 1.0 1.0 20 1.0 20 20 90 79.0
; 100 1 1 - - - 1 1 3 15 78
3 =]
kR 100.0 1.0 1.0 - - - 1.0 1.0 3.0 15.0 78.0
=18 100 - - - - 1 2 5 6 14 72
=R 100.0 - - - - 10 20 50 6.0 14.0 72.0
e 100 2 2 2 - - 2 2 3 11 76
™ 100.0 20 20 20 - - 20 20 3.0 1.0 76.0
- 100 - - - - 1 2 3 4 13 77
= E
BIHR 100.0 - - - - 1.0 20 30 40 130 77.0
100 - - - - - 2 1 2 16 79
EJRE]
IR 100.0 - - - - - 20 1.0 20 16.0 79.0
100 1 - - 2 2 1 2 2 9 81
cA[=|
RHE 100.0 1.0 - - 20 20 1.0 20 20 9.0 81.0
100 1 1 - - 1 1 - 2 8 86
=]
I5e &2 1% 100.0 1.0 10 - - 1.0 1.0 - 20 8.0 86.0
100 - 1 - - - - 1 - 9 89
E2 B
PRI % 100.0 - 1.0 - - - - 1.0 - 9.0 89.0
. 100 - - - - - 1 1 4 4 90
o =]
= BHR 100.0 - - - - - 10 1.0 40 40 90.0
f =g 100 - - - 1 - 2 - - 5 92
 —ER 100.0 - - - 1.0 - 20 - - 50 92.0
B e 100 - - - - 1 1 3 3 6 86
HEIR 100.0 - - - - 1.0 1.0 3.0 30 6.0 86.0
- 100 1 1 - - - - - 5 12 81
AR 100.0 10 1.0 - - - - - 50 12.0 81.0
100 - - 1 - - 1 1 4 5 88
ABR AT 100.0 - - 1.0 - - 1.0 1.0 40 50 88.0
. 100 3 - - 2 3 2 2 - 8 80
I 100.0 3.0 - - 20 30 20 20 - 8.0 80.0
spE 100 - - 1 1 1 - 1 5 2 89
I 100.0 - - 1.0 1.0 1.0 - 1.0 50 20 89.0
B— 100 1 - 2 1 1 2 1 5 5 82
AR 100.0 1.0 - 20 1.0 1.0 20 1.0 50 50 82.0
100 - - 1 2 1 1 1 1 12 81
=]
RER 100.0 - - 10 20 10 1.0 1.0 1.0 12.0 81.0
100 - - - - 2 2 2 3 13 78
=]
BRI 100.0 - - - - 20 20 20 3.0 13.0 78.0
100 - 1 - - - 2 2 1 19 75
= =]
LR 100.0 - 1.0 - - - 20 20 1.0 19.0 75.0
100 1 - 2 1 1 - 3 2 17 73
B
EER 100.0 1.0 - 20 1.0 10 - 30 20 17.0 73.0
100 - - - - 1 - 1 1 12 85
=]
AR 100.0 - - - - 1.0 - 1.0 1.0 12.0 85.0
P 100 1 1 - - - 1 - 7 9 81
o IS 100.0 1.0 10 - - - 1.0 - 70 90 81.0
=118 100 - - 1 1 1 2 3 4 11 77
= 100.0 - - 1.0 1.0 1.0 20 3.0 40 11.0 77.0
e 100 2 - - 1 - 1 1 4 10 81
o =]
BRR 100.0 20 - - 1.0 - 1.0 1.0 40 10.0 81.0
=408 100 1 1 1 1 - - 1 3 9 83
= REI 100.0 1.0 1.0 1.0 10 - - 1.0 30 90 83.0
_ 100 1 - 1 - 1 2 1 2 6 86
= =]
t2RR 100.0 1.0 - 1.0 - 1.0 20 1.0 20 6.0 86.0
100 - - - - - - 1 3 8 88
FoI=N| =]
EHR 100.0 - - - - - - 1.0 30 8.0 88.0
R 100 1 - - 1 1 2 3 5 5 82
Ao 100.0 1.0 - - 1.0 1.0 20 30 50 50 82.0
. 100 - - - 1 - - 2 3 7 87
™ 100.0 - - - 1.0 - - 20 30 7.0 87.0
PN 100 1 - - 2 1 1 1 6 9 79
7 100.0 10 - - 20 1.0 10 1.0 6.0 9.0 79.0
i1 100 - - 1 1 1 3 2 1 7 84
Ao 100.0 - - 1.0 1.0 1.0 3.0 20 1.0 7.0 84.0
100 - 1 1 - 2 2 1 2 6 85
18 =]
BRER 100.0 - 10 1.0 - 20 20 10 20 6.0 85.0
100 1 - - - 1 2 - 1 14 81
R 100.0 1.0 - - - 1.0 20 - 1.0 14.0 81.0
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] i ] i is3 0 b 2

i 7 1=
& 1k 4700 315 157 189 250 420 346 413 527 536 1548
100.0 6.7 3.3 40 5.3 8.9 7.4 8.8 11.2 11.4 32.9
s > 100 6 2 2 9 10 5 6 10 7 43
AtimE 100.0 6.0 2.0 2.0 9.0 10.0 5.0 6.0 10.0 7.0 43.0
=X 100 7 2 2 6 5 5 7 9 14 43
100.0 7.0 2.0 2.0 6.0 5.0 5.0 7.0 9.0 14.0 43.0
PO g 100 7 4 7 3 11 6 5 8 9 40
- 100.0 7.0 40 7.0 3.0 11.0 6.0 5.0 8.0 9.0 40.0
=i 18 100 6 2 1 8 4 6 12 7 12 42
-~ 100.0 6.0 2.0 1.0 8.0 40 6.0 12.0 7.0 12.0 42.0
FNEE 100 4 6 3 6 9 6 6 14 13 33
= 100.0 40 6.0 3.0 6.0 9.0 6.0 6.0 14.0 13.0 33.0
A 100 4 4 2 8 6 4 10 9 10 43
- 100.0 4.0 4.0 2.0 8.0 6.0 4.0 10.0 9.0 10.0 43.0
e 100 11 - 2 3 6 8 6 14 12 38
- 100.0 11.0 - 2.0 3.0 6.0 8.0 6.0 14.0 12.0 38.0
i 18 100 5 2 5 2 8 6 12 8 13 39
- 100.0 5.0 2.0 5.0 20 8.0 6.0 12.0 8.0 13.0 39.0
A B 100 9 2 2 7 16 11 7 5 1 40
- 100.0 9.0 2.0 2.0 7.0 16.0 11.0 7.0 5.0 1.0 40.0
g 100 8 3 5 6 5 13 8 4 13 35
BER 100.0 8.0 3.0 5.0 6.0 5.0 13.0 8.0 40 13.0 35.0
g 100 9 3 3 3 6 10 8 13 15 30
BER 100.0 9.0 3.0 3.0 3.0 6.0 10.0 8.0 13.0 15.0 30.0
T 100 5 4 3 7 15 7 13 14 10 22
TR 100.0 5.0 4.0 3.0 7.0 15.0 7.0 13.0 14.0 10.0 22.0
- 100 12 6 2 8 9 5 3 9 13 33
R 100.0 12.0 6.0 20 8.0 9.0 5.0 3.0 9.0 13.0 33.0
hzs || 1B 100 5 1 8 5 6 5 10 13 10 37
e 100.0 5.0 1.0 8.0 5.0 6.0 5.0 10.0 13.0 10.0 37.0
%88 100 3 4 5 8 7 7 7 16 5 38
- 100.0 3.0 40 5.0 8.0 7.0 7.0 7.0 16.0 5.0 38.0
=11 100 7 i 4 10 5 5 10 13 1 34
R 100.0 7.0 1.0 40 10.0 5.0 5.0 10.0 13.0 11.0 34.0
5)iE 100 7 2 5 4 10 4 6 10 14 38
- 100.0 7.0 2.0 5.0 40 10.0 40 6.0 10.0 14.0 38.0
PRI 100 9 2 5 7 4 10 8 12 11 32
- 100.0 9.0 2.0 5.0 7.0 40 10.0 8.0 12.0 11.0 320
MEN 100 3 4 4 6 11 10 9 7 16 30
- 100.0 3.0 4.0 40 6.0 11.0 10.0 9.0 7.0 16.0 30.0
EFRE 100 3 3 3 1 10 9 9 13 7 42
- 100.0 3.0 3.0 3.0 1.0 10.0 9.0 9.0 13.0 7.0 42.0
I B 18 100 4 4 3 2 7 11 14 7 10 38
- 100.0 4.0 40 3.0 20 7.0 11.0 14.0 7.0 10.0 38.0
#4015 100 7 5 5 2 7 5 7 12 10 40
100.0 7.0 5.0 5.0 2.0 7.0 5.0 7.0 12.0 10.0 40.0
P58 100 3 1 5 6 5 3 12 12 10 43
)75 - 100.0 3.0 1.0 5.0 6.0 5.0 3.0 12.0 12.0 10.0 43.0
E3 =z 100 1 4 2 5 11 9 6 8 16 38
#o|—=T 100.0 1.0 4.0 2.0 5.0 11.0 9.0 6.0 8.0 16.0 38.0
TR - 100 3 2 2 4 8 7 14 13 9 38
R 100.0 3.0 2.0 2.0 40 8.0 7.0 14.0 13.0 9.0 38.0
— 100 9 5 3 1 8 7 9 17 9 32
AR 100.0 9.0 5.0 3.0 1.0 8.0 7.0 9.0 17.0 9.0 32.0
100 10 5 2 2 11 5 5 11 13 36
ABR AT 100.0 10.0 5.0 2.0 2.0 11.0 5.0 5.0 11.0 13.0 36.0
EE 100 10 4 5 1 9 3 10 15 10 33
oY 100.0 10.0 40 5.0 1.0 9.0 3.0 10.0 15.0 10.0 33.0
ZaE 100 5 - 3 3 9 11 12 8 13 36
IR 100.0 5.0 - 3.0 3.0 9.0 11.0 12.0 8.0 13.0 36.0
AT 100 4 5 2 5 13 9 5 6 13 38
- 100.0 40 5.0 2.0 5.0 13.0 9.0 5.0 6.0 13.0 38.0
£ fy 18 100 4 - 1 6 4 6 13 15 8 43
mmnes 100.0 40 - 1.0 6.0 4.0 6.0 13.0 15.0 8.0 43.0
EiEE 100 7 3 3 3 7 6 11 12 16 32
- 100.0 7.0 3.0 3.0 3.0 7.0 6.0 11.0 12.0 16.0 32.0
1L 100 7 2 3 5 11 6 7 8 11 40
-~ 100.0 7.0 2.0 3.0 5.0 11.0 6.0 7.0 8.0 11.0 40.0
EEE 100 4 2 4 5 8 4 12 13 10 38
- 100.0 4.0 2.0 40 5.0 8.0 4.0 12.0 13.0 10.0 38.0
Mal: 100 6 2 3 5 5 6 8 11 9 45
- 100.0 6.0 2.0 3.0 5.0 5.0 6.0 8.0 11.0 9.0 45.0
e 100 5 9 1 4 11 5 11 10 8 36
eI 100.0 5.0 9.0 1.0 4.0 11.0 5.0 11.0 10.0 8.0 36.0
e 100 6 8 1 5 6 6 9 9 11 39
- 100.0 6.0 8.0 1.0 5.0 6.0 6.0 9.0 9.0 11.0 39.0
BE R 100 10 2 5 4 5 8 9 8 15 34
- 100.0 10.0 2.0 5.0 40 5.0 8.0 9.0 8.0 15.0 34.0
=418 100 10 3 3 8 7 4 9 4 8 44
AT 100.0 10.0 3.0 3.0 8.0 7.0 4.0 9.0 4.0 8.0 440
1= 100 2 3 7 6 4 11 5 12 10 40
- 100.0 2.0 3.0 7.0 6.0 40 11.0 5.0 12.0 10.0 40.0
e 100 4 5 4 6 7 5 10 10 8 41
- 100.0 40 5.0 40 6.0 7.0 5.0 10.0 10.0 8.0 41.0
Ei5E 100 6 2 6 4 12 10 4 13 8 35
- 100.0 6.0 2.0 6.0 4.0 12.0 10.0 40 13.0 8.0 35.0
eI 100 8 7 2 4 13 4 11 8 6 37
- 100.0 8.0 7.0 2.0 40 13.0 40 11.0 8.0 6.0 37.0
K418 100 6 1 5 6 10 8 8 9 10 37
- 100.0 6.0 1.0 5.0 6.0 10.0 8.0 8.0 9.0 10.0 37.0
=5 18 100 6 6 3 1 11 4 6 13 6 44
-~ 100.0 6.0 6.0 3.0 1.0 11.0 4.0 6.0 13.0 6.0 44.0
g 100 6 1 3 7 8 9 7 5 13 41
BRER 100.0 6.0 1.0 3.0 7.0 8.0 9.0 7.0 5.0 13.0 41.0
100 7 3 3 4 9 8 6 9 14 37
R 100.0 7.0 3.0 3.0 4.0 9.0 8.0 6.0 9.0 14.0 37.0
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Q33—6. RA¥—hT7#> - HRBEHE

@ CDAE—Fyb

HE 8 5 4 3 2 *x1 *x1 3 3 ES

' isd B is3 B is3 it B i BF 0] 0 )

M f& M fi fis f fil i 7 ) 1=
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E t E t E 0] + + P F
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] i ] i is3 0 b 2

i 7 1=
& 1k 4700 322 184 227 318 433 388 500 617 721 990
100.0 6.8 3.9 48 6.8 9.2 8.3 10.6 13.1 15.3 21.1
s > 100 9 6 4 8 11 11 14 8 16 13
AtimE 100.0 9.0 6.0 4.0 8.0 11.0 11.0 14.0 8.0 16.0 13.0
=X 100 8 5 8 4 11 6 17 8 16 17
100.0 8.0 5.0 8.0 40 11.0 6.0 17.0 8.0 16.0 17.0
PO g 100 6 5 6 12 12 3 7 7 23 19
- 100.0 6.0 5.0 6.0 12.0 12.0 3.0 7.0 7.0 23.0 19.0
=i 18 100 10 3 4 14 8 9 14 11 8 19
-~ 100.0 10.0 3.0 40 14.0 8.0 9.0 14.0 11.0 8.0 19.0
FNEE 100 3 9 5 12 14 8 9 10 8 22
= 100.0 3.0 9.0 50 12.0 14.0 8.0 9.0 10.0 8.0 220
1L 1 100 6 6 7 12 12 7 9 16 8 17
- 100.0 6.0 6.0 7.0 12.0 12.0 7.0 9.0 16.0 8.0 17.0
e 100 11 3 6 8 16 15 7 11 6 17
- 100.0 11.0 3.0 6.0 8.0 16.0 15.0 7.0 11.0 6.0 17.0
i 18 100 8 7 9 10 6 8 9 7 21 15
- 100.0 8.0 7.0 9.0 10.0 6.0 8.0 9.0 7.0 21.0 15.0
A B 100 7 8 8 6 11 12 12 12 10 14
- 100.0 7.0 8.0 8.0 6.0 11.0 12.0 12.0 12.0 10.0 14.0
g 100 9 5 6 9 5 11 9 13 16 17
BER 100.0 9.0 5.0 6.0 9.0 5.0 11.0 9.0 13.0 16.0 17.0
g 100 8 5 3 5 8 9 9 16 10 27
BER 100.0 8.0 5.0 3.0 5.0 8.0 9.0 9.0 16.0 10.0 27.0
T 100 8 3 6 7 8 9 10 11 15 23
TR 100.0 8.0 3.0 6.0 7.0 8.0 9.0 10.0 11.0 15.0 23.0
- 100 9 6 7 8 9 4 15 12 12 18
R 100.0 9.0 6.0 7.0 8.0 9.0 40 15.0 12.0 12.0 18.0
hzs || 1B 100 7 2 8 7 13 11 14 14 5 19
e 100.0 7.0 2.0 8.0 7.0 13.0 11.0 14.0 14.0 5.0 19.0
%88 100 5 4 5 9 10 8 14 12 14 19
- 100.0 5.0 4.0 5.0 9.0 10.0 8.0 14.0 12.0 14.0 19.0
IR 100 8 6 3 9 8 3 12 17 11 23
R 100.0 8.0 6.0 3.0 9.0 8.0 3.0 12.0 17.0 11.0 23.0
5e 100 8 3 9 9 7 8 13 13 20 10
- 100.0 8.0 3.0 9.0 9.0 7.0 8.0 13.0 13.0 20.0 10.0
PRI 100 8 3 10 5 5 8 13 12 20 16
- 100.0 8.0 3.0 10.0 5.0 50 8.0 13.0 12.0 20.0 16.0
MEN 100 8 4 2 9 14 10 16 10 13 14
- 100.0 8.0 4.0 2.0 9.0 14.0 10.0 16.0 10.0 13.0 14.0
EFRE 100 6 4 3 5 10 15 5 17 14 21
- 100.0 6.0 40 3.0 5.0 10.0 15.0 5.0 17.0 14.0 21.0
I B 18 100 6 6 5 5 11 14 12 11 15 15
- 100.0 6.0 6.0 5.0 5.0 11.0 14.0 12.0 11.0 15.0 15.0
#4015 100 8 6 6 5 12 9 11 14 13 16
100.0 8.0 6.0 6.0 5.0 12.0 9.0 11.0 14.0 13.0 16.0
P58 100 7 3 6 10 7 12 10 18 19 8
)75 - 100.0 7.0 3.0 6.0 10.0 7.0 12.0 10.0 18.0 19.0 8.0
E3 =z 100 9 7 5 8 8 11 5 10 19 18
#o|—=T 100.0 9.0 7.0 5.0 8.0 8.0 11.0 5.0 10.0 19.0 18.0
Al S AA] 100 8 4 3 5 8 6 13 17 14 22
R 100.0 8.0 40 3.0 5.0 8.0 6.0 13.0 17.0 14.0 22.0
— 100 7 2 4 9 7 15 10 17 15 14
AR 100.0 7.0 2.0 4.0 9.0 7.0 15.0 10.0 17.0 15.0 14.0
100 10 3 2 7 12 7 9 15 16 19
ABR AT 100.0 10.0 3.0 2.0 7.0 12.0 7.0 9.0 15.0 16.0 19.0
EE 100 9 5 3 7 7 9 12 14 14 20
oY 100.0 9.0 5.0 3.0 7.0 7.0 9.0 12.0 14.0 14.0 20.0
ZaE 100 3 6 3 8 10 5 9 19 14 23
IR 100.0 3.0 6.0 3.0 8.0 10.0 5.0 9.0 19.0 14.0 23.0
I 100 9 3 5 7 11 13 11 5 14 22
- 100.0 9.0 3.0 5.0 7.0 11.0 13.0 11.0 5.0 14.0 22.0
£ fy 18 100 7 9 1 11 9 8 13 6 13 23
mmnes 100.0 7.0 9.0 1.0 11.0 9.0 8.0 13.0 6.0 13.0 23.0
EiEE 100 4 3 8 5 14 9 13 13 17 14
- 100.0 40 3.0 8.0 5.0 14.0 9.0 13.0 13.0 17.0 14.0
1L 100 7 3 3 8 15 11 12 10 14 17
-~ 100.0 7.0 3.0 3.0 8.0 15.0 11.0 12.0 10.0 14.0 17.0
EEE 100 6 7 3 9 13 2 7 20 16 17
- 100.0 6.0 7.0 3.0 9.0 13.0 2.0 7.0 20.0 16.0 17.0
sl 100 9 7 2 7 8 11 12 12 10 22
- 100.0 9.0 7.0 2.0 7.0 8.0 11.0 12.0 12.0 10.0 22.0
e 100 6 3 6 5 13 7 13 20 14 13
eI 100.0 6.0 3.0 6.0 5.0 13.0 7.0 13.0 20.0 14.0 13.0
e 100 12 5 5 5 12 6 14 11 8 22
- 100.0 12.0 5.0 5.0 5.0 12.0 6.0 14.0 11.0 8.0 22.0
BE R 100 7 4 4 7 11 8 11 13 11 24
- 100.0 7.0 40 4.0 7.0 11.0 8.0 11.0 13.0 11.0 24.0
=58 100 10 6 4 10 11 9 9 7 13 21
AT 100.0 10.0 6.0 4.0 10.0 11.0 9.0 9.0 7.0 13.0 21.0
1= 100 7 8 5 15 10 8 9 13 11 14
- 100.0 7.0 8.0 5.0 15.0 10.0 8.0 9.0 13.0 11.0 14.0
e 100 15 3 3 10 6 10 7 8 17 21
- 100.0 15.0 3.0 3.0 10.0 6.0 10.0 7.0 8.0 17.0 21.0
Ei5E 100 6 6 13 6 10 9 11 14 11 14
- 100.0 6.0 6.0 13.0 6.0 10.0 9.0 11.0 14.0 11.0 14.0
eI 100 11 3 9 6 7 13 13 8 15 15
- 100.0 11.0 3.0 9.0 6.0 7.0 13.0 13.0 8.0 15.0 15.0
K418 100 11 4 4 9 9 11 11 12 10 19
- 100.0 11.0 4.0 40 9.0 9.0 11.0 11.0 12.0 10.0 19.0
=5 18 100 8 5 7 6 6 7 16 11 15 19
-~ 100.0 8.0 5.0 7.0 6.0 6.0 7.0 16.0 11.0 15.0 19.0
RS 100 13 3 4 6 9 11 6 14 13 21
FEIL SR 100.0 13.0 3.0 4.0 6.0 9.0 11.0 6.0 14.0 13.0 21.0
g e 100 7 6 4 17 13 5 8 11 11 18
o 100.0 7.0 6.0 4.0 17.0 13.0 5.0 8.0 11.0 11.0 18.0
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Q34 HUT-ORAEDNBHEES

BEALZEWD
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5 = e N =] = /N =2 B z 3
& #t #t % = #t | & x 0} 54
M 8 8 8 E3 & ~ * it
~ ~ . 8 . %
iE 5 =] . 7 ~
#t % =2 % L *
8 #t E3 = N x
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5 1% 4700 1588 236 255 338 75 625 49 816 81 638
100.0 33.8 5.0 5.4 7.2 1.6 13.3 1.0 17.4 1.7 13.6
- 100 37 6 4 3 - 19 2 14 - 15
AL 100.0 37.0 6.0 4.0 3.0 - 19.0 2.0 14.0 ~ 15.0
S 100 26 10 16 5 1 13 3 15 2 9
100.0 26.0 10.0 16.0 5.0 1.0 13.0 3.0 15.0 2.0 9.0
wxm 100 4 4 10 12 - 10 2 8 2 11
B 100.0 41.0 40 10.0 12.0 = 10.0 2.0 8.0 2.0 11.0
- 100 27 6 9 7 2 21 2 16 3 7
8 100.0 27.0 6.0 9.0 7.0 2.0 21.0 2.0 16.0 3.0 7.0
HE e 100 40 5 9 7 2 11 3 11 1 11
i 100.0 40.0 5.0 9.0 7.0 20 11.0 3.0 11.0 1.0 11.0
Ly 100 42 4 9 13 1 10 3 9 2 7
B 100.0 42.0 4.0 9.0 13.0 1.0 10.0 3.0 9.0 2.0 7.0
- 100 33 2 11 3 1 14 1 17 3 15
5 100.0 33.0 2.0 11.0 3.0 1.0 14.0 1.0 17.0 3.0 15.0
- 100 39 4 3 6 2 11 2 21 4 8
~ 100.0 39.0 40 3.0 6.0 2.0 11.0 2.0 21.0 40 8.0
- 100 41 5 5 3 1 15 - 18 1 11
8 100.0 41.0 5.0 5.0 3.0 1.0 15.0 - 18.0 1.0 11.0
E 100 40 6 2 11 = 12 = 13 3 13
R 100.0 40.0 6.0 2.0 11.0 - 12.0 - 13.0 3.0 13.0
E 100 38 3 3 5 2 15 2 17 4 11
BER 100.0 38.0 3.0 3.0 5.0 2.0 15.0 2.0 17.0 40 11.0
= 100 41 3 4 8 4 9 2 21 1 7
TRR 100.0 41.0 3.0 4.0 8.0 4.0 9.0 2.0 21.0 1.0 7.0
. 100 41 2 5 11 2 10 1 13 3 12
R 100.0 41.0 2.0 5.0 11.0 2.0 10.0 1.0 13.0 3.0 12.0
. 100 48 6 4 5 1 10 2 17 1 6
SR 100.0 48.0 6.0 4.0 5.0 1.0 10.0 2.0 17.0 1.0 6.0
s 100 42 4 8 5 4 7 2 16 2 10
o 100.0 42,0 40 8.0 5.0 40 7.0 2.0 16.0 2.0 10.0
=18 100 53 4 7 3 - 13 - 11 1 8
=R 100.0 53.0 40 7.0 3.0 - 13.0 - 11.0 1.0 8.0
- 100 47 6 4 7 1 16 2 10 1 6
5 100.0 47.0 6.0 40 7.0 1.0 16.0 2.0 10.0 1.0 6.0
=8 100 42 3 8 6 1 13 3 12 5 7
™ 100.0 42.0 3.0 8.0 6.0 1.0 13.0 3.0 12.0 5.0 7.0
L5 100 41 7 7 3 1 14 1 11 2 13
B 100.0 41.0 7.0 7.0 3.0 1.0 14.0 1.0 11.0 2.0 13.0
e 100 4 4 7 8 1 17 3 11 2 6
5 100.0 41.0 40 7.0 8.0 1.0 17.0 3.0 11.0 2.0 6.0
HE 100 31 6 7 12 1 16 2 12 3 10
B 100.0 31.0 6.0 7.0 12.0 1.0 16.0 2.0 12.0 3.0 10.0
— 100 44 3 4 8 - 13 1 15 1 11
100.0 44.0 3.0 4.0 8.0 - 13.0 1.0 15.0 1.0 11.0
— 100 36 9 5 6 1 16 2 11 1 13
B 8 100.0 36.0 9.0 5.0 6.0 1.0 16.0 2.0 11.0 1.0 13.0
R — 100 34 4 11 6 2 14 3 17 - 9
# —="% 100.0 34.0 40 11.0 6.0 2.0 14.0 3.0 17.0 — 9.0
R 100 33 6 1 3 2 17 4 20 3 11
it 100.0 33.0 6.0 1.0 3.0 2.0 17.0 40 20.0 3.0 11.0
- 100 40 4 7 9 1 15 2 16 - 6
AT 100.0 40.0 40 7.0 9.0 1.0 15.0 2.0 16.0 = 6.0
100 44 5 7 4 1 17 - 11 1 10
AR 100.0 44.0 5.0 7.0 4.0 1.0 17.0 - 11.0 1.0 10.0
. 100 43 7 6 5 1 12 1 15 - 10
et 100.0 43.0 7.0 6.0 5.0 1.0 12.0 1.0 15.0 - 10.0
=p8 100 37 4 7 4 2 10 2 23 2 9
i 100.0 37.0 40 7.0 4.0 2.0 10.0 2.0 23.0 2.0 9.0
— 100 32 2 11 7 1 21 1 18 - 7
8 100.0 32.0 2.0 11.0 7.0 1.0 21.0 1.0 18.0 - 7.0
— 100 37 10 12 6 1 11 2 12 1 8
AL 100.0 37.0 10.0 12.0 6.0 1.0 11.0 2.0 12.0 1.0 8.0
eipiE 100 32 5 12 9 1 20 1 9 2 9
™~ 100.0 32.0 5.0 12.0 9.0 1.0 20.0 1.0 9.0 2.0 9.0
— 100 32 9 7 7 3 15 4 14 1 8
5 100.0 32.0 9.0 7.0 7.0 3.0 15.0 40 14.0 1.0 8.0
o 100 42 1 9 1 1 14 3 14 1 14
EER 100.0 42.0 1.0 9.0 1.0 1.0 14.0 3.0 14.0 1.0 14.0
. 100 43 3 7 8 - 16 1 11 3 8
i 100.0 43.0 3.0 7.0 8.0 - 16.0 1.0 11.0 3.0 8.0
- 100 38 6 6 6 - 14 2 15 1 12
oI 100.0 38.0 6.0 6.0 6.0 - 14.0 2.0 15.0 1.0 12.0
=18 100 38 3 7 11 1 17 2 12 - 9
100.0 38.0 3.0 7.0 11.0 1.0 17.0 2.0 12.0 - 9.0
— 100 39 2 6 7 2 12 1 20 2 9
5 100.0 39.0 2.0 6.0 7.0 2.0 12.0 1.0 20.0 2.0 9.0
=408 100 32 6 14 9 - 15 1 10 3 10
= AR 100.0 32.0 6.0 14.0 9.0 = 15.0 1.0 10.0 3.0 10.0
— 100 40 5 7 8 3 16 1 11 2 7
8 100.0 40.0 5.0 7.0 8.0 3.0 16.0 1.0 11.0 2.0 7.0
- 100 35 6 11 8 1 11 1 13 1 13
™ 100.0 35.0 6.0 11.0 8.0 1.0 11.0 1.0 13.0 1.0 13.0
58 100 26 3 12 7 2 23 3 12 2 10
8 100.0 26.0 3.0 12.0 7.0 2.0 23.0 3.0 12.0 2.0 10.0
- 100 34 2 9 5 3 11 3 11 3 19
5 100.0 34.0 2.0 9.0 5.0 3.0 11.0 3.0 11.0 3.0 19.0
K48 100 35 4 8 6 - 17 1 15 2 12
B 100.0 35.0 40 8.0 6.0 = 17.0 1.0 15.0 2.0 12.0
i1 100 30 8 8 10 3 13 - 14 3 11
8 100.0 30.0 8.0 8.0 10.0 3.0 13.0 - 14.0 3.0 11.0
- 100 35 2 7 7 3 9 1 23 3 10
B 100.0 35.0 2.0 7.0 7.0 3.0 9.0 1.0 23.0 3.0 10.0
— 100 33 12 4 7 2 12 3 16 2 9
100.0 33.0 12.0 4.0 7.0 2.0 12.0 3.0 16.0 2.0 9.0
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2778 400 385 1994
£ & 100.0 14.4 13.8 718
e 66 4 2 60
AtimE 100.0 6.1 3.0 90.9
66 3 3 60
=8
RRRIR 100.0 45 45 90.9
w 65 4 6 55
=]
EFR 100.0 6.2 9.2 84.6
65 6 8 51
= 100.0 9.2 123 785
67 7 5 55
JU =]
RER 100.0 10.4 75 82.1
66 3 4 59
A=
g 100.0 45 6.1 89.4
_ 61 3 7 51
= =]
BER 100.0 49 115 83.6
e 59 7 10 42
= =]
TR 100.0 1.9 16.9 71.2
67 9 12 46
B
AR 100.0 13.4 17.9 68.7
60 5 6 49
=]
BER 100.0 8.3 10.0 81.7
61 14 11 36
- =]
BER 100.0 23.0 18.0 59.0
— 61 19 8 34
=]
TR 1000 311 131 557
- 60 19 14 27
Ll 100.0 31.7 233 450
69 26 8 35
= B
R IR 100.0 37.7 11.6 50.7
. 65 4 3 58
NEN|=]
iR 100.0 6.2 4.6 89.2
=1 77 4 13 60
= 100.0 5.2 16.9 77.9
74 8 11 55
&
alll 100.0 10.8 14.9 743
_ 67 8 6 53
= E
tBIHR 100.0 11.9 9.0 79.1
70 4 4 62
ERE]
IIZR 100.0 5.7 5.7 88.6
70 7 7 56
kA=
RHR 100.0 10.0 10.0 80.0
61 1 10 50
=]
Iz &2 5% 100.0 16 16.4 82.0
64 4 11 49
E2 =]
PRI % 100.0 6.3 17.2 76.6
_ 67 4 9 54
o =]
= BHR 100.0 6.0 134 80.6
f =g 65 2 10 53
H#h =ER 100.0 3.1 15.4 815
1 59 11 6 42
HEIR 100.0 186 102 71.2
- 67 5 13 49
AR 100.0 75 19.4 73.1
74 8 15 51
ABR AT 100.0 10.8 20.3 68.9
69 9 11 49
=]
RER 100.0 13.0 15.9 71.0
=pE 60 9 6 45
IR 100.0 15.0 10.0 75.0
67 5 8 54
T =]
AR 100.0 75 11.9 80.6
71 5 4 62
=]
SR 100.0 7.0 5.6 87.3
70 3 3 64
B
SRR 100.0 43 43 91.4
66 2 5 59
5 =]
LR 100.0 3.0 7.6 89.4
= 67 5 9 53
BER 100.0 75 13.4 79.1
69 - 7 62
=]
AR 100.0 - 10.1 89.9
64 1 5 58
Vet =
RER 100.0 1.6 7.8 90.6
=i 66 4 6 56
= 100.0 6.1 9.1 84.8
e 61 4 7 50
o =]
BRR 100.0 6.6 115 82.0
- 67 3 6 58
= =]
BAR 100.0 45 9.0 86.6
_ 71 3 10 58
= =]
t2RR 100.0 4.2 14.1 81.7
64 2 6 56
FoI=N| =]
EHR 100.0 31 9.4 875
66 1 9 56
B
RIER 100.0 15 13.6 84.8
fe A 59 9 6 44
™ 100.0 15.3 10.2 74.6
64 5 12 47
Z\ 1B
AR 100.0 78 188 73.4
62 6 4 52
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=R 100.0 9.7 65 839
56 4 9 43
18 =]
BRAR 100.0 7.1 16.1 76.8
63 9 3 51
R 100.0 14.3 48 81.0
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400 134 146 62 39 20
£ & 100.0 33.4 36.4 15.5 9.7 5.0
— 4 1 2 1 - -
AtimE 100.0 250 50.0 250 - -
3 1 - 1 - 1
=2
RRRIR 100.0 333 - 333 - 333
i 4 1 - 1 2 -
=]
EFR 100.0 250 - 250 50.0 -
6 3 1 2 - -
= =]
=R 1000 500 16.7 333 - -
7 4 2 1 - -
JU =]
RER 100.0 57.1 28.6 14.3 - -
3 - - 1 1 1
A=
g 100.0 - - 333 333 333
_ 3 1 1 1 - -
= =]
BER 100.0 333 333 33.3 - -
4+ 7 2 5 - - -
= =]
TR 1000 286 714 - - -
9 - 3 3 3 -
B
AR 100.0 - 333 333 333 -
5 2 1 2 - -
=]
BER 100.0 400 200 400 - -
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™ 100.0 24.0 28.0 19.0 15.0 14.0
K431 100 19 40 17 12 12
7 100.0 19.0 400 17.0 12.0 12.0
=51 100 23 34 23 8 12
o 100.0 230 34.0 23.0 8.0 12.0
100 14 28 23 17 18
18 =]
BRESR 100.0 14.0 28.0 23.0 17.0 18.0
100 15 26 33 12 14
R 100.0 15.0 26.0 33.0 12.0 14.0
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AtimE 100.0 28.0 19.0 29.0 7.0 17.0
= 100 31 24 25 8 12
™ 100.0 31.0 240 25.0 8.0 12.0
g 100 23 29 19 11 18
™ 100.0 23.0 29.0 19.0 11.0 18.0
=i 100 21 20 28 12 19
™ 100.0 210 20.0 28.0 12.0 19.0
P 100 24 29 23 12 12
™ 100.0 24.0 29.0 23.0 12.0 12.0
L2 100 27 31 21 6 15
7o 100.0 27.0 31.0 21.0 6.0 15.0
. 100 26 27 17 10 20
o 100.0 26.0 27.0 17.0 10.0 20.0
i 100 26 22 28 10 14
AR 100.0 26.0 220 28.0 10.0 14.0
100 32 27 22 7 12
B
AR 100.0 320 27.0 220 7.0 12.0
100 37 25 15 7 16
=]
BER 100.0 37.0 25.0 15.0 7.0 16.0
100 21 30 27 8 14
- =]
BER 100.0 21.0 30.0 27.0 8.0 14.0
— 100 23 36 15 7 19
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TR 1000 230 360 150 70, 190
- 100 29 26 21 9 15
R 100.0 29.0 26.0 21.0 9.0 15.0
100 29 24 29 8 10
= B
R IR 100.0 29.0 240 29.0 8.0 10.0
. 100 27 30 19 8 16
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B 100.0 27.0 30.0 19.0 8.0 16.0
=11 100 30 29 24 8 9
B 100.0 30.0 29.0 240 8.0 9.0
" 100 24 33 18 11 14
™ 100.0 240 33.0 18.0 11.0 14.0
sEtE 100 35 25 19 8 13
BT 100.0 35.0 25.0 19.0 8.0 13.0
100 26 31 20 6 17
FU 1B
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A e 100 26 20 31 10 13
HHR 100.0 26.0 20.0 31.0 10.0 13.0
- 100 24 30 27 6 13
AR 100.0 240 30.0 27.0 6.0 13.0
100 15 31 30 7 17
ABR AT 100.0 15.0 31.0 30.0 7.0 17.0
e 100 24 29 28 6 13
and 100.0 24.0 29.0 28.0 6.0 13.0
=pE 100 23 34 24 9 10
IR 100.0 23.0 34.0 240 9.0 10.0
D 100 20 31 32 8 9
AR 100.0 20.0 310 32.0 8.0 9.0
100 26 29 24 9 12
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B
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=i 100 17 37 29 9 8
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BRR 100.0 30.0 32.0 18.0 9.0 11.0
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™ 100.0 37.0 25.0 23.0 6.0 9.0
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7 100.0 36.0 30.0 11.0 12.0 11.0
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100 23 24 32 10 11
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100 28 26 30 8 8
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=i 100 20 20 20 20 20
™ 100.0 20.0 20.0 20.0 20.0 20.0
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™ 100.0 20.0 20.0 20.0 20.0 20.0
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™ 100.0 20.0 20.0 20.0 20.0 20.0
- 100 20 20 20 20 20
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- 100 20 20 20 20 20
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o 11 100 20 20 20 20 20
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;@j —=T 100.0 20.0 20.0 20.0 20.0 20.0
I 100 20 20 20 20 20
HER 100.0 20.0 20.0 20.0 20.0 20.0
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SRR 100.0 20.0 20.0 20.0 20.0 20.0
100 20 20 20 20 20
BRI 100.0 20.0 20.0 20.0 20.0 20.0
e 100 20 20 20 20 20
SR 100.0 20.0 20.0 20.0 20.0 20.0
—_— 100 20 20 20 20 20
100.0 20.0 20.0 20.0 20.0 20.0
D 100 20 20 20 20 20
™ 100.0 20.0 20.0 20.0 20.0 20.0
. 100 20 20 20 20 20
AR 100.0 20.0 20.0 20.0 20.0 20.0
- 100 20 20 20 20 20
™ 100.0 20.0 20.0 20.0 20.0 20.0
e 100 20 20 20 20 20
FILLR 100.0 20.0 20.0 20.0 20.0 20.0
E 100 20 20 20 20 20
LER 100.0 20.0 20.0 20.0 20.0 20.0
LOE 100 20 20 20 20 20
™ 100.0 20.0 20.0 20.0 20.0 20.0
P 100 20 20 20 20 20
O 100.0 20.0 20.0 20.0 20.0 20.0
=i 100 20 20 20 20 20
100.0 20.0 20.0 20.0 20.0 20.0
—_ 100 20 20 20 20 20
™ 100.0 20.0 20.0 20.0 20.0 20.0
=g 100 19 21 20 20 20
IR 100.0 19.0 21.0 20.0 20.0 20.0
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™ 100.0 20.0 20.0 20.0 20.0 20.0
- 100 20 20 20 20 20
™ 100.0 20.0 20.0 20.0 20.0 20.0
Ei5E 100 20 20 20 20 20
™ 100.0 20.0 20.0 20.0 20.0 20.0
fe A 100 20 20 20 20 20
™ 100.0 20.0 20.0 20.0 20.0 20.0
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™ 100.0 19.0 21.0 20.0 20.0 20.0
=51 100 20 20 20 20 20
™ 100.0 20.0 20.0 20.0 20.0 20.0
= 100 20 20 20 20 20
BRESR 100.0 20.0 20.0 20.0 20.0 20.0
100 21 19 20 20 20
AR 100.0 21.0 19.0 20.0 20.0 20.0
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